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UGC NET PAPER 2 NOVEMBER 20, 2021 - SHIFT 1 COMPARATIVE STUDY OF RELIGIONS QUESTION PAPER

| Topic:- 62COMPARATIVE S R_A

1) To understand the meaning of text the idea of ‘‘language game’’ is given by text
(1) Mircea Eliade (2) Soren Kierkegaard

(3) Ludwig Wittgenstein {4) D.T. Suzuki
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[Question ID = 1504][Question Description = Q01_CSR_SHAAN_20MOV21_51_5hift1]
g My

[Option ID = 6013]
2. 2

[Option ID = 6014]
5.3

[Option ID = 6015]
4. 4

[Option ID = 6016]

2) ‘Zend-Avesta’ is the sacred book of

(1) Judaism (2) Toaism

(3) Zoroastrianism (4) Jainism
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[Question ID = 1505][Question Description = Q02_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6017]
2. 2

[Option ID = 6018]
3. 3

[Option ID = 6019]
4, 4

[Option ID = 6020]

3) Identify the approach of Gerardus van de Leeuw for the study of Religion
(1) Anthropologicals (2) Historical

(3) Sociologica (4) Phenomenological
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[Question ID = 1506][Question Description = Q03_CSR_SHAAN_20NOV21_S1_Shift1]
1.1

[Option ID = 6021]
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[Option ID = 6022]
3.3

[Option ID = 6023]
4. 4

[Option ID = 6024]

4) ldea of ‘Creative hermeneutics’ introduced by
(1) Friedrich Schleiemacher (2) Friedrich Nietzsche

(3) Mircea Eliade (4) Claude-Levi-Strauss
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[Question ID = 1507][Question Description = Q04_CSR_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 6025]
2. 2

[Option ID = 6026]
3.3

[Option ID = 6027]
4, 4

[Option ID = 6028]

) This doctrine follows the vedic culture
(1) Sramaxgism (2) Sufism
(3) Purusarthacatustaya (4) Communism
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[Question ID = 1508][Question Description = Q05_CSR_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 6029]
2. 2

[Option ID = 6030]
3.3

[Option ID = 6031]
4. 4

[Option ID = 6032]

o) i Ekam Sadvipra Bahudha vadanti’ is mentioned in the
(1) Rgveda (Z2) Ramayvana
(3) Atharvaveda (4) Manusmrti
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[Question ID = 1509][Question Description = Q06_CSR_SHAAN_20NOV21_51_5hift1]

1.1

[Option ID = 6033]
2. 2

[Option ID = 6034]
3 3

[Option ID = 6035]
4. 4

[Option ID = 6036]

7 Among the following is the founder of Yoga system
1 Kapila (2) Gautama
(3) Patafyjali (4) Kanada
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[Question ID = 1510][Question Description = Q07_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6037]
2. 2

[Option ID = 6038]
3.3

[Option ID = 603%]
4, 4

[Option ID = 6040]

8)  The epic Valmiki Ramayana is divided into

(1)  Eight parvas (2) Nine Addyayas
(3)  Seven Kandas (4) Six Adhikaras
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[Question ID = 1511][Question Description = Q08_CSR_SHAAN_20NOV21_51_5hift1]
s U5 |

[Option ID = 6041]
2. 2

[Option ID = 6042)
2

[Option ID = 6043]
4. 4

[Option ID = 6044]

) Prominent preacher of Vaisnava Bhakti — movement is

(1) Shankaradeva (2) Jagannatha
(3) Kabir {(4) Rahim




WWW.prepp.in 'repp

e ARE-ATEeH & Hﬂﬁm 3 - Your Personal Exams Guide
1)  vEEd (2) Y
(3) K 4 wm

[Question ID = 1512][Question Description = Q09_CSR_SHAAN_20NOV21_S1_5Shift1]
1. 1

[Option ID = 6045]
2

[Option ID = 6046]
3.3

[Option ID = 6047]
4. 4

[Option ID = 6048]

10) ‘Nirjara’ is included in this group of Jain principles

(1) Six substances (2) Five vows
(3) Seven elements (4) Three jewels
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[Question ID = 1513][Question Description = Q10_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6049]
2. 2

[Option ID = 6050]
3 3

[Option ID = 6051]
4. 4

[Option ID = 6052)

11) The meaning of *‘Pudgala substance’’ in Jainism is

(1) Matter substance (2) Medium of rest

(3) Medium of motion (4) Jiva substance
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[Question ID = 1514][Question Description = Q11_CSR_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 6053]
2. 2

[Option ID = 6054]
S

[Option ID = 6055]
4. 4

[Option ID = 6056]

12) Khajuraho is famous for -

(1) Jain manuscripts (2) Birth place of Neminatha

(3) Jain education centre (4} Architecture of ancient Jain temples
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[Question ID = 1515][Question Description = Q12_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6057]
2. 2

[Option ID = 6058]
%

[Option ID = 6059]
4, 4

[Option ID = 6060]

2 "Acarya Bhikkhu" was the founder of this sect.
(1)  Caityavasi (2) Sthanakavasi
(3) Taranatarana pantha (4) Terapantha Svetambera
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[Question ID = 1516][Question Description = Q13_CSR_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 6061]
Ziid

[Option ID = 6062]
3 3

[Option ID = 6063]
4. 4

[Option ID = 6064]

14
) These are called four “Ghati Karma”

(1) Jhianavarana, Darsanavarana, Ayu, Nama

(2) Mohaniya, Antaraya, Vedaniya. Gotra

(3) Jiianavarana , Daréanﬁvaral}a . Mohaniya, Antaraya

(4) Jiianavarana, Daréanﬁvarar}a , Vedaniya, Antaraya
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[Question ID = 1517][Question Description = Q14_CSR_SHAAN_20NOV21_51_5Shift1]
g st

[Option ID = 6065]
7.2

[Option ID = 6066]
3,8

[Option ID = 6067]
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15) Ayagapatta in Jaina Arts found here —

(1) Ayodhya (2) Vallabhi
(3) Mathura (4) Mysore
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[Question ID = 1518][Question Description = Q15_CSR_SHAAN_20MOV21_S51_5hift1]
1. 1

[Option ID = 6069]
2. 2

[Option ID = 6070]
3.3

[Option ID = 6071]
4. 4

[Option ID = 6072]

16) ldentify the name of country having Mahayana tradition of Buddhism in practice

(1) Cambodia (2) Myanmar
(3) Bhutan (4) 5ri Lanka
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[Question ID = 1519][Question Description = Q16_CS5R_SHAAN_20NOV21_S51_5Shift1]
1. 1

[Option ID = 6073]
3.2

[Option ID = 6074]
3.3

[Option ID = 6075]
4. 4

[Option ID = 6076]

17) ldentify the realisation or achievement of a buddhist monk after the end of the meditations

while leading to the final initiation of the four noble truths

(1) end of rebirth (2) realisation of truth

(3) death is inevitable (4) victory over the samsara
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[Question ID = 1520][Question Description = Q17_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6077]
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[Option ID = 6078]
3.3

[Option ID = 6079]
4. 4

[Option ID = 6080]

18) ldentify the second of five aggregates in Buddhism

(1) Sanskara (2) Rupa
(3) Vedana (4) Vijiiana
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[Question ID = 1521][Question Description = Q18_CSR_SHAAN_20NOV21_51_5hift1]

Tt

[Option ID = 6081]
2. 2

[Option ID = 6082]
B

[Option ID = 6083]
4, 4

[Option ID = 6084]

19) The earliest epigraphic evidence mentioning the birth place of Sakyamuni Buddha

is obtained from
(1) Sarnath (2) Sravasti

(3) Kausambi {4) Rummindei
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(3  Hremsh @) TR

[Question ID = 1522][Question Description = Q19_CSR_SHAAN_20NOV21_51_5hift1]

1. 1

[Option ID = 6085]
2.3

[Option ID = 6086]
3.3

[Option ID = 6087]
4, 4

[Option ID = 6088]

20) Identify the option that is NOT correct about the book ‘‘Gospel of Buddha’’

(1) the book tells us the story of the Buddha through parables
(2) this book was meant to introducing Buddhism to the Western World
(3) this book has only one edition in print format

(4) the translation of some of the verses of Dhammapada are found in this book
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[Question ID = 1523][Question Description = Q20_CSR_SHAAN_20NOV21_51_5hift1]

1.1

[Option ID = 6089]
2, 2

[Option ID = 6090]
3.3

[Option ID = 6091]
4, 4

[Option ID = 6092]

21) Identify from the following options that is NOT included in five precepts in Buddhism
(1) not to harm or kill any living being (2) not to lie

(3) not to have food at improper times (4) not to indulge into sexual misconduct
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[Question ID = 1524][Question Description = Q21_CSR_SHAAN_20NOV21_S1_Shift1]

1. 1

[Option ID = 6093]
2.3

[Option ID = 6094]
LN

[Option ID = 6095]
4, 4

[Option ID = 6096]

22) ldentify the day on which the Sabbath, according to the judaism, is celebrated
(1) Thursday {2) Sunday
(3) Friday (4) Saturday
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[Question ID = 1525][Question Description = Q22_CSR_SHAAN_20NMOV21_S51_5hift1]
1. 1

[Option ID = 6097]
5, 3

[Option ID = 6098]
3.3

[Option ID = 6099]
4. 4

[Option ID = 6100]

23) The ‘Shema’ prayer of the jews for the great confession of faith is found in the book of
(1) Genesis (2) Leviticus

(3) Denteronomy (4) Exodus
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[Question ID = 1526][Question Description = Q23_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1
[Option ID = 6101]
2. 2
[Option ID = 6102]
e frpen !
[Option ID = 6103]
4. 4

[Option ID = 6104]

24) The place where the translation of jewish scriptures into Greek, known as Septuagint, was begun
(1) Bethlehem in Judea (2) Alexandria in Egypt

(3) Nazereth in Galilee (4) Cana in Galilee
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[Question ID = 1527][Question Description = Q24_CSR_SHAAN_20NMOV21_51_5hift1]
1.1

[Option ID = 6105]
2. 2

[Option ID = 6106]
3.3

[Opticn ID = 6107]
4. 4

[Option ID = 6108]

25) Joshua, son of Sirach, composed the book of old testament, commonly called

(1) Ecclesiasticus (2) Ecclesiastes

(3) Nehemiah (4) Lamentations
T % 9 e yEfaar S g # awed e, T et aR W e S @
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[Question ID = 1528][Question Description = Q25_CSR_SHAAN_20NOV21_51_5hift1]
154

[Option ID = 6109]
Lok

[Option ID = 6110]
3 3

[Option ID = 6111]
4, 4

[Option ID = 6112]

26) Identify the two main strata of Talmud
(1) Gospels and epistles (2) Synoptic and Johannine
(3) Acts and letters (4) Mishnah and Gemara
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[Question ID = 1529][Question Description = Q26_CSR_SHAAN_20NOV21_51_5hift1]
1.

[Option ID = 6113]
7.2

[Option ID = 6114]
303

[Option ID = 6115]
4. 4

[Option ID = 6116]

27) ldentify the person who was sent to Jerusalem to be educated under Gamaliel

(1) 5t.Peter (2) St.Paul
(3) 5t.Thomas (4) 5t. Mathew

3G = hl YE=H HISY 5G9 e = i difda 0 % fau Sevem S T
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[Question ID = 1530][Question Description = Q27_CSR_SHAAN_20MOV21_51_5Shift1]
1. 1

[Option ID = 6117]
2. 2

[Option ID = 6118]
3.3

[Option ID = 6119]
4, 4

[Option ID = 6120]

28) Identify the leader of the Jewish school who stood for the strictly literal interpretation of the oral laws of the jews,
(1) Hillel (2) Pauline
(3) Shammai (4) Petrine
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[Question ID = 1531][Question Description = Q28_CSR_SHAAN_20MOV21_S51_5hift1]
1. 1

[Option ID = 6121]
2. 2

[Option ID = 6122]
3.3

[Option ID = 6123]
4. 4

[Option ID = 6124]

29) Identify the celebration on which the birth of Jesus is remembered:
(1) Easter (2) Christmas
(3) Good Friday (4) Epiphany
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[Question ID = 1532][Question Description = Q29_CSR_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 6125]
7.2

[Option ID = 6126]
3.3

[Option ID = 6127]
4, 4

[Option ID = 6128]

30) A book on Hadith terminology entitled ‘al-Kifayah fi ilm-al-Riwayah’ was written by
(1) Imam Zahabi {2) Khatib al-Baghdadi
(3) Ibn Hajar al-Asqalani (4) Imam Bukhari
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[Question ID = 1533][Question Description = Q30_CSR_SHAAN_20MOV21_51_5hift1]
1.1

[Opticn ID = 6129]
5

[Option ID = 6130]
3.3

[Option ID = 6131]
4. 4

[Option ID = 6132]

31) The name ‘Jami’ is given to the collection of Hadith by

(1) Ibn Majah (2) Al-Nasai

(3) Tirmidhi (4) Abu Daud
(1) == =En (2) % T
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[Question ID = 1534][Question Description = Q31_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6133]
2. 2

[Option ID = 6134]
3. 3

[Option ID = 6135]
4, 4

[Option ID = 6136]

32) Imam Ghazali was a strict follower of

(1) Mu'tazilism (2) Asha'rism
(3) Zahirism (4) Maturidism
AW WA O TR A Y
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[Question ID = 1535][Question Description = Q32_CSR_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 6137]
2, 2

[Opticn ID = 6138]
%

[Option ID = 6139]
4, 4

[Option ID = 6140]

33) According to the Ithna Asharis the seventh Imam was
(1) Ismail (2) Ali-al-Rida
(3) Musa al-Kazim (4) Jafar al-5adiq
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[Question ID = 1536][Question Description = Q33_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6141]
2. 2

[Option ID = 6142]
3 3

[Option ID = 6143]
4. 4

[Option ID = 6144]

34) 'Khalg-i-Quran’ is the belief of
(1) Jabarites (2) Mu'tazilites
(3) Asharites (4) Maturidis
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[Question ID = 1537][Question Description = Q34_CSR_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 6145]
2. 2

[Option ID = 6146]
3.3

[Option ID = 6147]
4, 4

[Option ID = 6148]

35) Kal taran Gur Nanak e aia is written by
(1) Guru Gobind singh (2} Guru Amardass
(3) Bhai Gurdass (4) Bhai Nand lal
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1. 1
[Option ID = £149]
2. 2
[Option ID = 6150]
3.2

[Option ID = 6151]
4, 4

[Option ID = 6152]

36) “Mahan Kosh” book is written by

(1) Bhai Kahan Singh Nabha (2) Gyani Gurdit Singh

(3) Bhai Jodh Singh (4) Sirdar Kapur Singh
HEM T TaH i T R B
(1) g FEE fag (2) = e T
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[Question ID = 1539][Question Description = Q36_CSR_SHAAN_20MOV21_51_5hift1]
1. 1

[Option ID = 6153]
2. 2

[Option ID = 6154]
3.3

[Option ID = 6155]
4. 4

[Option ID = 6156]

37) ‘Sacha Soda Sakhi’ related with Guru Nanak contains

(1) Vaaran Bhai Gurdass (2) Puratan Janam Sakhi

(3) Guru Nanak Bani (4) Janam Sakhi Bhai Bala
TEAE W weiod T WG W 39 g 2 -
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[Question ID = 1540][Question Description = Q37_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6157]
2. 2

[Option ID = £158]
3.3

[Option ID = 6159]
4, 4

[Option ID = 6160]

38) ‘Prachin Panth Parkash’ is written by

(1) Gyani Gyan Singh (2) Rattan Singh Bhangu

(3) Bhai Gurdass (4) Bhai Nand Lal
Tl Y YT = T 3R R -
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[Question ID = 1541][Question Description = Q38_CSR_SHAAN_20MOV21_S51_5hift1]
1. 1
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[Option ID = 6162]
3.3

[Option ID = 6163]
4. 4

[Option ID = 6164]

39) Identify a bani that is not included in Adi Granth -

(1) Bawan Akhri (2) Patti
(3) Sidh Gosti (4) Jap Sahib
f= o o anfe w=a 4 =2 aftta soft =t wg=m hifs -
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[Question ID = 1542][Question Description = Q39_CSR_SHAAN_20NOV21_51_5hift1]
R

[Option ID = 6165]
2.2

[Option ID = 6166)
3 3

[Option ID = 6167]
4. 4

[Option ID = £168]

40) Sikh hero Baba Banda Singh Bahadur was born at
(1) Rajouri (2) Nanded
(3) Lahore (4) Anandpur
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[Question ID = 1543][Question Description = Q40_CS5R_SHAAN_20NOV21_51_5Shift1]

1.1

[Option ID = £16%]
2. 2

[Option ID = 6170]
3.3

[Option ID = 6171]
4. 4

[Option ID = 6172]

41) ldentify the Kingdoms associated with the life of the Buddha

(A) Avanti
(B) Gandhara
(C) Koshala
(D) Magadha
(E) Vajji

Choose the correct answer from the options given below:
(1) (A), (C), (E) only
(2) (A), (B), (C) only
(3) (B), (C), (D) only
(4) (C), (D}, (E) only
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[Question ID = 1544][Question Description = Q41_CSR_SHAAN_20NOV21_S1_Shift1]
g st

[Option ID = 6173]
7.2

[Option ID = 6174]
3, 3

[Option ID = 6175]
4, 4

[Option ID = 6176]

42) ldentify the leaders of religious authority
(A) Preacher

(B) Magician

(C) Totem

(D} Prophet

(E) Saint

Choose the most appropriate answer from the options given below:
(1) (A), (C), (E) only

(2) (B), (D}, (E) only

(3) (C), (D), (E) only

(4) (A), (B), (C) only

T 3 FASA F TETH A
(A) TETE

B) IFR

(C) |

(D) TR

(E) #a

F= fow ¢ farpedt 4 @ @ s w0 = hife

(1) Fa (A), (O). (E)
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2y w=a(B). (D). (B)

(3)  %aa (C). (D), (B)

@ ¥ A). B). ()

[Question ID = 1545][Question Description = Q42_CSR_SHAAN_20MOV21_51_5hift1]
1.1

[Option ID = 6177]
5

[Option ID = 6178]
3.3

[Option ID = 6179]
4. 4

[Option ID = 6180]

43} Indentify the correct combination from the statements given below:

(A) “Religion is belief in spiritual beings”-E.B.Tylor

(B) “Religion is a rational phenomenon”- Rudolf Otto

(€) “Religion is the sigh of the oppressed creature, the heart of heartless” -Karl Marx

(D) “Religion would thus be the universal obsessional neurosis of humanity”- Sigmund Freud
(E) “Religion is not belief in Magic” - J.G. Frazer

Choose the correct answer from the options given below:
(1) (A), (D), (E) only
(2) (A}, (C), (D) only
(3) (B), (C), (E) only
(4) (A}, (B), (E) only

= fou o sifiergat 4 % @ 3w A veEw A

A) “w suemfers el #§ fvamg 27 - gl der

(B) “g¥ TH qHF UH4 2 - FTECE AR

(C) “enl it <Al =7 T 3R TEAEMAT I gad 217 — el A
(D) W TER 98 T = TERGA] B FEH e 2

®) ‘ot g & faverm 48 210 — 9. =

= fou o faweut § © o I w1 e il

(1 3 (A), D). @),
@ %99 QA (C). D)
@ = B), (O), (B)
@  Fad (A), (B). (B)

[Question ID = 1546][Question Description = Q43_CSR_SHAAN_20NOV21_51_5hift1]
2 B

[Option ID = 6181]
1)

[Option ID = 6182]
3. 3

[Option ID = 6183]
4. 4

[Option ID = 6184]
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(A) other
(B) Id

(C) ego
(D) self

TS g | Ripme wig gRT YEr BRI 9 0eT 6 agee il

44) ldentify the three terms which were used by Sigmund Freud in Psychological approach:

(E) super ego

Choose the correct answer from the options given below:
(1) (B), (C), (E) only
(2) (B), (C), (D) only
(3) (A}, (C), (D) only
(4) (C), (D), (E) only

(A) e |

® =

(€ ¥

D) %
E) FE-TH

= v o femeat 8 € w1 I = = Fifw

D
(2)
3
4)

1

4 (B), (C), (E)
9 (B). (C), (D)
e (A). (C). (D)
et (C), (D). (B)

[Question ID = 1547][Question Description = Q44_CS5R_SHAAN_20NOV21_51_5hift1]
: 2

[Option ID = £185]

2

[Option ID = 6186]

.3

[Option ID = 6187]

4

[Option ID = 6188]

45) Philosophy of religion deals with

(A) Manifestation of Religio
(B} Metaphysics

(C) Ethics

(D) Meditation

(E) Epistemology

prepp
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Choose the most appropriate answer from the options given below: .
PProp P g Your Personal Exams Guide

(1) (B), (D), (E) only
(2) (A), (B), (C) only
(3) (C), (D), (E) only
(4) (B), (C), (E) only

g T g9 Y HaTId 8 :

(A) T = WA

B)
(C)  Afrar
(D) @iy
(E) e

3 fou 7o fawes! ® © 8 S w1 99 iR

Q) ¥ (B), (D), (B)
@  F= (4), B). ()
® %= (C), (D). (B)
@  F= ®), (0). (B)

[Question ID = 1548][Question Description = Q45_CSR_SHAAN_20NOV21_51_5Shift1]
g et

[Option ID = 618%]
2. 2

[Option ID = 6190]
3.3

[Option ID = 6191]
4, 4

[Option ID = 6192]

46) Read the following statements and identify correct answers :

(A) Satpatha Brahmana is the basic commentary of Yajuryeda

(B) The concept of Purusa element is philosophical reality in Nyayadarsana

(C) ‘Karmanyevadhikaraste ma phalesu kadacana’ is the famous concept of the Bhagawadgita
(D) ‘Tantraloka’ is the basic text of

(E) Valmiki is recognised as Adikavi of Sanskrit literature

Choose the coreect answer from the options given below:

(1) (B), (C), (D) only
(2) (A), (C), (E) only
(3) (A), (B), (D) only
(4) (A), (B), (E) only
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(A) T TR Fds 9 ST

(B) FATIGIM § UHW v i ST FEIAF aredtawa &l

(C) “FHYAMINHRE W g hera Wiagiiar i ufig e 2|
D) TEEE ATEIR FSGR T 2

(E) T¥a Wifeced A arcHifss Ht 21ig =i 7 7T 21

I fau 7o faereut 0 8 931 3 o wE e

(1) Faa B). (0). (D)
2  FaE @A), ©). (B)
(3 Faa (A). (B). (D)

@  Fa A, (B). (B)

[Question ID = 1549][Question Description = Q46_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6193]
%2

[Option ID = 6194]
8

[Option ID = £195]
4, 4

[Option ID = 6196]

47) Read the following statements and identify correct answer :

(A) "Vasudhaiva Kutumbakam’ is the declaration of vedic culture
(B) Sixteen Padarthas (topics) are explained in Nyayadarsan

(C) Chaitanya Mahaprabhu was preacher of Saivamata

(D) Preaching of the Bhagavadgita is disinterested action

(E) Tulsidas was strong opponent of Idol worship

Choose the most appropriate answer from the options given below:

(1) (B), (C), (E) only
(2) (A), (C), (D) only
(3) (A}, (B), (C) only
(4) (A), (B), (D) only

srifeiiga HuE H 9 3R T B T

@) Fmia T Al wept H sgEn 2
(B) =rIEEE § Wew gl A sme i 2
(C) I9Ad ST daamemy 9l

(D)  wEEiar = suem e 2

(E) qoEEm gigsn % yaa e 4|
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(1)
(2
(3)
4

[Question ID = 1550][Question Description = Q47_CSR_SHAAN_20NOV21_51_5hift1]

1.1

Fa (B). (C). (E)
Fae (A). (C). (D)
Fa (A), (B). (O)
¥ae (A). (B). (D)

[Option ID = 6197]

AN

[Option ID = 6198]

e

[Option ID = £199]

4, 4

[Option ID = 6200]

48) Read the following statements and identify correct answer:

(A) The word "Vedanta” is also used for upanisads

(B) "Svadhyayanma pramadh” this vedic denies for reading books

(C) Sankaracarya has used the word maya and avidya in same sense

(D} The concept of " Brahma" explained by Ramanuja

(E) ‘Geetarahasya’ commentary was written by Balgangadhar Tilak

Choose the most appropriate answer from the options given below:
(1) (A}, (C), (E) only
(2) (B), (C), (D) only
(3) (A}, (B}, (D) only
(4) (A}, (B), (E) only

frfafa = # 92 offt w8 s 79 -

(A)
®)
©
D)
E)

Fufaet % fom aara weg i T 2

AT T - 7 4fEw gfte T aed oo e )
TEEE A HET SR st wsdl B wEm s § w2
o 5181 sraaron i saren A 1 # 2

“fidaes’ A% S sreree oo 3 i )

e fou 7o formest § & we S9ET ST W W iR

(1)
2
(3)

4

[Question ID = 1551][Question Description = Q48_CSR_SHAAN_20NOV21_51_5Shift1]

e (A), (0). (B)
Fa< (B), (C), (D)
a4 (A), (B), (D)

% (A), (B). (E)

prepp

Your Personal Exams Guide



WWW.prepp.in

1.1
2. 2
3

4. 4

49)

(A)

B)
(©)

®)
(E)

D
2
(3
(4)

1.1
2. 2
L

4, 4

[Option ID = 6201]
[Option ID = 6202]
[Option ID = 6203]

[Option ID = 6204]

Read the following statements and identify correct answers

“Vidyaya vindate amrtam’ motto is found in kenopanisad
Period of Madhvacarya is 9% century C.E.
Lanka—dahana event by Hanuman is described in sundarakandaof Ramayana

Mahatma Gandhi was writer of ‘Geetarahasya’

The Nyayasttra was written by Gautama Aksapada

Choose the most appropriate answer from the options given below

(&), (B). (D) only
(&), (C), (E) only
(B), (C), (D) only
(B), (D), (E) only

Frafafiaa =i 18 3R S % SHER 2590 B TEH

@ =
®) e
(C) ITEG
@) T
€ w

= o o foeeut O © W SOR W A Hi0

(1) Faa (A), (B) 2 (D)
2 = (A), B) R (E)
3 % (C), (D) 3R (E)
@ %3 (B). (C) ¥R (D)
[Question ID = 1552][Question Description = Q49_CSR_SHAAN_20NOV21_S1_Shift1]
[Option 1D = 6205]
[Option 1D = 6206)
[Option 1D = 6207]

[Option ID = 6208]

prepp
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50) Read the following and identify the substance in Jainism

(A) Jiva
(B) AjTva
(C) Asrava
(D) Nirjara
(E) Kala

Choose the correct answer from the options given below:
(1) (A}, (B) and (D} only
(2) (A), (B) and (E) only
(3) (C), (D) and (E) only
(4) (B), (C) and (D) only

Frferfiga =t 78 3R S9ud % JTER 2590 B TeEE

@ =
®) I
(C) HES
@) T
& ™

I oo o feewt O © W SOK W A Hie

(1) Faa (A), (B) 2 (D)
(2) 99 (A), (B) 3R (E)
3 = (C), (D) 3R (B)
@ 3 (B), (C) 3R (D)

[Question ID = 1553][Question Description = Q50_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6209]
2. 2

[Option ID = 6210]
3

[Option ID = 6211]
4, 4

[Option ID = 6212]

21) Read the following and identify the texts written by Acaryakundakunda :

(A) Samavasara
(B) Trilokasara
(C) Aradhanasara
(D) Niyvamasara

(E) Pravacanasara

prepp
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Choose the most appropriate answer from the options given below : Your Personal Exams Guide
(1 (A), (B) and (C) only
(2 (A), (C) and (E) only
(3) (A, (D) and (E) only
4 (B). (C)and (D) only

Frefafiga = w8 3R o= T=gs g fofea =t = 2=
(A) TEEER

® FemEr

(€  SATEER

(D) TR

(E) b R RRt] B

= fou o fameul W ¥ A9E SugE I S = HI

1 w4, B) IR (C)
2 =39 (A), (C) 3R (B)
(3 T (A), (D) JR (E)
@  F B), (C) 31 (D)

[Question ID = 1554][Question Description = Q51_CSR_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 6213]
2. 2

[Option ID = 6214]
3 3

[Option ID = 6215]
4. 4

[Option ID = 6216]

Az} Identify the correct statements with reference to the meaning of ‘Anekantavada’ in

Jaimism.

(A) The view of theoretical synchronmization.

(B) The existence of doubt in things

(C)  The existence of continuous change 1n things
(D)  The existence of iInnumerable qualities in things

(E)  The existence of opposite qualities

Choose the most appropriate answer from the options given below :

(1) (B)and (C)only
@  (C)and D) only
(3 (A, (B)and (C) only
(49 (A), (D) and (E) only

%:‘;Triﬁ‘nﬁm;ﬁ 'jTD;%ﬁéﬁﬁTﬁﬂmﬂéme%-
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(A) denfes au=m #i i

B®) g | FEER HTW
(C) =g o e aftadq & @an
(D) g o 3~ gl $ am
(E) fourdt aui i o

e feu o fomheTi § O W SUTH SO R WO HITT

(1) ==t (B) FAR(C)
(2 = (C) (D)
@  F= (A). (B) I (C)
@  FFE A, (D) I (E)

[Question ID = 1555][Question Description = Q52_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6217]
Z. 2

[Option ID = 6218]
3. 3

[Option ID = 6219]
4, 4

[Option ID = 6220]

53) Identify the following statements with reference to Anagarika Dharmapala

(A) Foundation of Mahabodhi society of India

(B) Foundation of Brahmo Samaj

(C) Foundation of Asiatic society

(D) A citizen of Srilanka Don David Havavitarane changed his name in 1881

(E) Foundation of Bengal Buddhist Assciation in 1892

Codes:

(1) (A),(B) only
(2) (A), (D) only
(3) (B),(C) only
(4) (D}, (E) only

AN 9H9TA % gl H Frefeiaa ae $1 7290 #+)

(A)  TEEy wEEE FEE

(B) & HETS H G

©  ofienfes aamd Fi

(D) i FEiien s Shrs zenfaesr 3 1881 F ST A s for
(E) 1892 § s sfge vaiRieem 6 s
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1) F==A), ®)

2 F=(A), (D)
3 F4@). (O
(@) Faw (D), (B)

[Question ID = 1556][Question Description = Q53_CS5R_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6221]
5

[Option ID = 6222]
3.3

[Option ID = 6223]
4. 4

[Option ID = 6224]

54) Identify the Buddhist canonical literature categorized in vinayapitaka
(A) Khandhaka

(B) Dhamma Sangani

(C) Parivara

(D) Mahavagga

(E) Yamaka

Choose the correct answer from the options given below ;
(1) (A), (B), (C) only

(2) (A), (B), (D) only

(3) (A), (C), (D} only

(4) (A), (B), (E) only

dig = wieer = fqafies o Frfiea wike = wgam it

A @Yw
(B)  grmEwE

(C) wiar

M) wHeE

(E)y 7%

$i9 fou 7 fawedt 4 © o s w1 9w FifvT

Q)  FEF A, B). (O
2 =& A), (B). (D)
@ % A), (C). (D)

@ FF A, (B). (E)

[Question ID = 1557][Question Description = Q54_CSR_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 6225]
2. 2

[Option ID = 6226]
3.3
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Option ID = 6227] .
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[Option ID = 6228]

55) Read and find out the first group of the pre-exilic Hebrew prophets before 700 B.C.
(A) Amos

(B) St. Paul

(C) 5t. Jacob

(D) Hosea

(E) Isiah

Choose the correct answer from the options given below ;
(1) (A), (D), (E) only

(2) (A), (B), (C) only:

(3) (B), (C), (D} only

(4) (C), (D), (E) only:

ufer 31 700 01 Y4 © UEe % waw-gd = feew Afmt (wem) % wom wgg w ggene

Q) M
B) WU
(C) Tz Irwa
©) =fEn
E)  nsRen

Hro fou e T 8 @ w91 W w1 = it

(1) == (A). (D) IR (E)
2  *=E (A). B). (O)
@) === (B). (C). (D)
@ === (C). (D). (B)

[Question ID = 1558][Question Description = Q55_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6229]
%2

[Option ID = 6230]
3.3

[Option ID = 6231]
4, 4

[Option ID = 6232]

56) ldentify the chief festivals of Judaism,
(A) Festival of Unleavened bread

(B} Easter

(C) Festival of Harvest

(D) Bakrid

(E) Festival of Shelters

Choose the correct answer from the option given below :

(1) (A}, (B) and (D} only
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(2) (A),:(C)and (E) only Your Personal Exams Guide
(3) (B}, (C) and (E) only

(4) (A), (B) and (C) only

aedl o % g™ Rt i veee hif

(A)  s@HR o P AER
B =
(C)  HH = TR

D) il
(E) iufEal (siwed) =1 oiEn

9 3 v e § 9 TE S T 9 Fihe

() 5 (4), (B) 3 (D)
@  FFE A, (O) S (E)
3 %99 (B), (O) 3 (E)
@  FF(A). B) I (C)

[Question ID = 1559][Question Description = Q56_CSR_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 6233]
2. 2

[Option ID = 6234]
3.3

[Option ID = £235]
4, 4

[Option ID = 6236]

57) Identify some of the old Testament Canon
(A) Romans

(B) Acts

(C) Deuteronomy

(D) Joshua

(E) Psalms

Choose the correct answer from the options given below :
(1) (A), (B) and (C) only

(2) (C), (D) and (E) only

(3) (B), (C) and (D) only

(4) (A), (C) and (E) only

8 P TEEaE eH-T% 9E % E
A) U™
B) TUxEH

€)  sFgAH

Fa Y
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(E) g

= fau 7o fomeut d © o ST w1 WA HIT

(1)  +ad (A), (B) 2 (C)

2  FaE (O), (D) 2R (E)
(8  waw (B). (C) 31 (D)
@  F\E (A), (O) 91 (E)

[Question ID = 1560][Question Description = Q57_CSR_SHAAN_20NOV21_51_5hift1]
1.1

[Option ID = 6237]
2. 2

[Option ID = 6238]
3.3

[Option ID = 6239]
4, 4

[Option ID = 6240]

58) Identify the disciples who withessed the transfiguration of Jesus on Mount Tabore:
(A) 5t. Thomas Apostle

(B) 5t. Peter Apostle

(C) 5t. James Apostle

(D) St. John Apostle

(E) St. Francis Assisi

Choose the correct answer from the option given below :
(1) (A}, (B), (C) only

(Z) (B), (€}, (D) only

(3) (€), (D), (E) only

(4) (B), (D), (E) only

1 TR i TEEE i e Wee 29R R S NEE % SR B 3ET
(A) U uHE iR
B) H R wifeew
(©) ¥ S wifeea
(D) Uz 9A Wil
(E) ¥z wifim srHfifa

f= fBr o e 4 9 w8 T = T e

(1) FEEA). B). ()
() = B), (C), (D)
(3)  Faw (C). (D). (E)

4 ¥4 ®B). D). (B)
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[Option ID = 6241]
3.9

[Option ID = 6242]
3.3

[Option ID = 6243]
4. 4

[Option ID = 6244]

59) Identify the two great religious leaders of the Jewish exile period (586-539 B.C.)
(A) David

(B) Solomon

(C) Rehoboam

(D} Ezekiel

(E) Isiah

Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (D) and (E) only

TAE-F (586-539 3.9.) F 31 WgF UHISIER 1 qEEE HT

@) sfE
(B) @A
(€) wam
© s
(E)  smsfem

e fu e foepedl W § W SR SR 1 = IS

) F=QA), B
(2 ¥ (B), (©)
3  Fa@(C). (D)
4 %= (D). (B)

[Question ID = 1562][Question Description = Q59_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6245]
2.3

[Option ID = 6246]
3.3

[Option ID = 6247]
4, 4

[Option ID = 6248]

60) ldentify the chief Christian churches
(A) Shia
{B) Catholic
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(C) Sunny Your Personal Exams Guide
(D) Orthodox

(E) Protestant

Choose the most appropriate answer from the options given below :
(1) (A), (B), (C) only

(2) (B), (C), (D) only

(3) (B), (D}, (E) only

(4) (C), (D}, (E) only

TG SETE T hi UREE i
&) e

B) Uil

© @i

(D) e

E) wiER

Hr= fou o foreedl O @ HEE STE ST W T I, ;

(1) = (A), B). (O)
(2) == (B). (C), (D)
3 === (B). (D). (B)
@ %= (C), D). B

[Question ID = 1563][Question Description = Q60_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6249]
2. 2

[Option ID = 6250]
3 3

[Option ID = 6251]
4. 4

[Option ID = 6252]

61) Of the following statements find the correct ones

{(A) The most brilliant period of Baghdad was during the caliphate of Harun al-Rashid
{B) Hunayn ibn Ishaq was a Nestorian Christian and was the Sheikh of Translators

(€) The third caliph of the Abbasids was al-Hadi

(D} Imam Abu Yusuf died in the year 788 A.D.

Choose the correct answer from the options given below :

(1) {(A) and (B} only

(2) (A), (B) and (C) only

(3) (C) and (D) only

(4) (A) and (C) only

= fow 7T Femi ¥ U T

(A)  TTEE T OEH TS AR WA SRA—3TA T, il Raenwd § A9
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(B) T T5 THETH TeCH SH1S o 3R Zieeed W ol Your Personal Exams Guide
(C) T =1 dio/ Teis o7 B o

(D)  TA™ 319 JUF N e 788 €. H 5ol

=t 5u e formpeml o @ wd) I = =EA i

(1) & (A) 3R (B)
(2) A (A). (B) 3R (C)
(3) T (C) R (D)

(4)  Fae (A) #R(O)

[Question ID = 1564][Question Description = Q61_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6253]
.2

[Option ID = 6254]
e

[Option ID = 6255]
4, 4

[Option ID = 6256]

62) The following are some famous personalities along with their year of death. Select the incorrect ones
(A) al-Nasai - d.815

{B) Abu Dawud - d.888

(C) al-Tirmidhi - d.892

(D) Ibn Majah - d.915

(E) Ismail al-Bukhari - d.810

Choose the correct answer from the options given below :
(1) (A) and (B) only

{2) (A), (B) and (C) only

(3) {(A), (D) and (E) only

(4) (C) and (D) only

¥ wfirg =afwer 3t s g o8 Fefafaa 3| mew =1 = fifse

(A) ¥ T - 7 815
(B) AL T3 - Y 888
(€) i foeivsdt - 50 892
(D) z&A AT - geg 915

(E) sHumd o/ sl - I 810

4 2 o fowedi § @ w91 SO W1 99 i

(1) e Q) 3R (B)

2 = (A). B). (O
(3) A (A), (D) 3R (E)
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Your Personal Exams Guide
[Question ID = 1565][Question Description = Q62_CSR_SHAAN_20NOV21_51_5Shift1]

1.1

[Opticn ID = 6257]
2.2

[Option ID = 6258]
3, 3

[Option ID = 6259]
4. 4

[Option ID = 6260]

63) Consider the following statements and identify the correct ones.

(A) Murji’ites arose in the Umayyad period, They did not declare as infidels those believers who committed sins
(B) Of the six Canonical books of Hadith the number of Sahih books are two

(C) The commentary of the Quran ‘Tafsir al-Quran’ was written by Maulana Abul Kalam Azad.

(D) Shah Waliullah died in the year 1791 A.D,

Choose the most appropriate answer from the options given below

(1) {(A) and (B} only

(2) (A), (B) and (C) only

(3) {A), (C) and (D) only

(4) (C) and (D) only

Frafafa w1 9 @ 98 = =7 i

(A)  Tiea 3uedt B 0 39, I w7 B e T8l et A TR 9

(B) =om B ¥ Al 1 ° o wa 2

(C) e <t ot omest Am awdi e A 2, Sl e $erd 3 A ot 21
(D) e aiegE Hi 977 1791 3. ¥ 7

H fou T el | O TEE STE SR W T HIT

(1)  =ad (A) A (B)

(2)  FE (L), (B) 3R (C)

(3)  =Has (A). (C) 3t (D)

(4) = (C) FR (D)
[Question ID = 1566][Question Description = Q63_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6261]
.2

[Option ID = 6262]
e

[Option ID = 6263]
4, 4

[Option ID = 6264]

64) From the following statements identify correct ones.

(A) Puratan janam Sakhi is related to Guru Nanak

(B) Sachi Sakhi is related to Guru Nanak

(€) Janam Sakhi Bhai Bala is related to Guru Nanak

(D) Bhai Mani Singh Wali Janam Sakhi is related to Guru Nanak
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(E) Sau Sakhi is related to Guru Nanak

Choose the correct answer from the options given below :
(1) (A}, (C), (D} only
(2) (A), (B), (D) only
(3) (A), (C), (E) only
(4) (A), (B), (C) only

Freafataa & 5 =81 = i vm=m S
(A) TR T EE A 8 GEid 2

B) @ WG TS A § GEid 2

(C) < m e 918 sien 7% T d Seigd 2|
O) g e oz el s a1 T @ getia 2

() = ol 7 T 9 Eeied 2

= fau o famreut o © 931 IO R = i

(1) = (A, (). D)
@ = A, (B). D)
@ == (A (O). (B)
@ %= (A). B). ()

[Question ID = 1567][Question Description = Q64_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6265]
3.2

[Option ID = 6266]
Fui 3

[Option ID = 6267]
4, 4

[Option ID = 6268]

65) As per Rahit maryada a sikh is person who believes in

{A) One God

(B) Ten Gurus

(€) Worships of gods

(D) Guru Granth 5ahib

(E) Believe in any other religion

Choose the correct answer from the options given below :

(1) (A}, (B}, (E) only
(2) (A), (B), (D) only
(3) (B), (C), (D} only
(4) (C), (D}, (E) only

vtea maig & s1ar fag oz =t 2 At w4 fwam w=ar 2 -

(A) TEHTE

® =8 T

prepp
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(C)  svax sl Samer Your Personal Exams Guide

D) T WA A

E®) o=

Ao feu U fameql 4 © ga) 39X =1 994 i

1) =4 (A, (B), (E)
@  Ha (A), (B). (D)
)  F (B), (O, (D)

4) e (C), (D), (E)
[Question ID = 1568][Question Description = Q65_CSR_SHAAN_20NOV21_S1_Shift1]
1. 1

[Option ID = 6269]
2. 2

[Option ID = 6270]
7

[Option ID = 6271]
4, 4

[Option ID = 6272]

66) Match List | with List Il

List | List Il
{A) Paul Tillich ()  Patterns in Comparative Religion
(B) Mircea Eliade (Il Faith and Knowledge
(C) W. Cantwell Smith (Illy Dynamics of Faith
(D} John Hick (I¥) The Meaning and End of Religion

Choose the correct answer from the option given below :
(1) (A)y-(1ll1}, (B)-(I), (C)-(IV), (D)-(1)
(2)  (Ay-(I¥), (B)-(II), (C)-(1}, (D)-(11)
(3)  (Ay-(1l), (B)-(lI), (C)-(I}, (D)-(IV)
(4)  (A)y-(ll1), (B)-(), (C)-(IV}), (D)-(IN)

-1 % Ty gEi-1I1 = e il
I ge-11
(&) i fafers @ e T wRia fifeeg
(B) wRA 39R ) v T e
(C) 9. Feaa Y A1) SHEFEE 3TF
») == Ew avy s itm oS 33 % ffermsm

i fau T fameut 4 ¥ 9Ei 39 R == ity ;

L  A-AID). B)-AD, (C)-@V), D)-(D
2y  (A-IAV), B)-ID. (C-@, D)-AD
(3  A-AD. B)-dAI), (C)-D, (D)-AV)
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(4

[Question ID = 1569][Question Description = Q66_CSR_SHAAN_20NOV21_51_5hift1]

1.1

(A)-0ID, B)-1@). (C)-AV), (D)-(1I)

[Option ID = 6273]

AN

[Option ID = 6274]

e

[Option ID = 6275]

4, 4

[Option ID = 6276]

67) Match List | with List Il

List |

(A} The Idea of Holy

(B) Primitive Culture

(C) The Varieties of Religious
Experience

(D} The Golden Bough

List Il
() William James

() James G, Frazer
(Il E.B, Tylor

(I¥) Rudolf Otto

Choose the correct answer from the option given below :

(1) (A)-(I), (B)-(1}, (C)-(1V), (D)-(IlI)
(2)  (A)-(IV), (B)-(IN), (C)-(1}, (D)-(11)
(3)  (A)-(IV), (B)-(l), (C)-(IN), (D)-(I)
(4)  (A}-(), (B)-(IV}), (C)-(1l1}, (D1)-(1N)
-1 % w9 -1 = e il
-l

(A) 2 IEiE 3% i

(B) TRa we=

(©) = dradi o fifafms ceafifem

(D) 2 M= &M

A= fau e famwedl O ¥ O3 39 R wE ity .

(1)
(2)
3
(4)

[Question ID = 1570][Question Description = Q67_CSR_SHAAN_20MOV21_51_5hift1]

ti:

(A)-aD. B)-D). (O)-@V), (D)-(I1D
(A)-aV), (B)-(11), (C)-@., (M)-AD)
(A)-(IV), (B)-(11). (C)-AD, O)-(D
(A)-(D. (B)-AV). (O)-dID), (D)-(L)

[Option ID = 6277]

2. 2

[Option ID = 6278]

3. 3

[Option ID = 6279]

4. 4

[Option ID = 6280]

Ml
(O fafeEm s
(I) 4 . T
() 3.8 TR

(IV) TSEF e

prepp
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| 68)  Match List I with List IT

@)
(B)
©
D)

List I
Non-Dualism
Qualified Monism

Dualism

Dualism cum Non-Dualism

List I1

() Ramanuja
(I Madhvacarya
(I) Vallabhacarya

(IV) Saﬁkarﬁcﬁrya

Choose the correct answer from the option given below :

1) A-ID, B)-AV). (O)-(II). (D)-(I)
2 @@, B-IID. (O)-AV). (D)-AD)
@  @-aV). ®-O. (©)-aD. @)-1D
@  A-ALD. B)-AD. (C)-D. (D)-(1V)
-1 % iy g=h-11 =1 e i
-1

(A) sTgTER

(B) faRmergmER

(€) IR

(D) sATggang

= fow o famedl § ¥ 9 SO F1 99 i

D) @-aDn, B)-aV). ©)-ID, 0)-O
@  @-O. ®-0. ©)-aV). O)-aD
3  @-av), ®-@. (O-aD., O)-1D
@  @-aI, B)-0D, (C)-O. (D)-aV)

@ TS
(IT)  EATar
(ITT) agHTar
AV) ¥R

[Question ID = 1571][Question Description = Q68_CSR_SHAAN_20NOV21_S1_Shift1]

T, %

[Option ID = 6281]

i

[Option ID = 6282]

i

[Option ID = 6283]

4, 4

[Option ID = 6284]

69)

(&)

(B)

(©)

Match List I with List 11

List I

Worship place of the Gommatesvara

List IT

(D  Aausadhi

Salvation place of the 20 dJain (II} Jainism

Tirthankaras
God 1s not creator of the world

T hawixr

(IIT) Shravanabelagola

1
SET Th ‘el b Fa b B |

prepp
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- m—————— LY ;F RIMEILI LI IGRIc = kBN LA [ €Y

Choose the correct answer from the option given below :

(1 A-AV). (B)-(ID. (C)-@), D)-ID
2)  A-O. B-aV). (C)-dD, M)-(11I)
3  A@-aD, B-0. (O)-AV), M)-AID
(4  A-AID, B)-IV), (C)-aD). M)-(D
A1 % Ty g=Al-I =1 e Aifsm
I G-I
(A) ToRYEt A i g v O ol
(B) 20 dofwtt & Fre-mfy o =M an Saed
(€) v dew gz A 2 (IID) #revierren
D) =A av) woig fr

I 2 o famedt 0 © g2l IO = 99 Fi

1
2
3
@

(A)-AV), (B)-(ID. (C)-(D. (D)-(D
(A)-D. (B)-V). (O)-dD, (D)-(I1D)
(A4)-aD, B)-O. (O-IV), O)-ID
(A)-IID, (B)-AV). (O)-D), D)-O)

[Question ID = 1572][Question Description = Q69_CSR_SHAAN_20NOV21_51_5hift1]

1.1

[Option ID = 6285]

2. 2

[Option ID = 6286]

a3

[Option ID = 6287]

4. 4

[Option ID = 6288)

70) Match List | with List [l

List |
(A)
(B)
(C)
(D)

List Il
Dhammapada () U-Chan
Tibetan Script (1Y Sanskrit
Ashokan Edicts (1) Pali
Saddharmapundarika (I¥) Brahmi

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(IV), (C)-(II), (D)-(1)
(2) (A1), (B)-(1), (C)-(IV), (D)-(1)
(3)  (A)y(IV), (B)-(IN), (C)-(IIN), (D)-(1)
(4)  (A)-(l), (B)-(ll}, (C)-(1II}, (D)-(1V)

=1 % 9 Il = e iR
T 1 11

prepp
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(A) g99g

B) foead &

(C) 19t % s1fie™

(D) ugEPsi®
= fou o fepeul 4 © OEl ST RN Hi
1 (A)-ID), (B)-(IV), (C)-I1D), (D)-(D
(2) (A)-AID), (B)-(D. (C)-AV), (D)-AD
(3 (A)-AV). (B)-(11), (C)-(I1I), (D)-(D)
@ A)-@, (B)-AD). (O)-d1I). (D)-(IV)

[Question ID = 1573][Question Description = Q70_CSR_SHAAN_20NOV21_S51_5Shift1]

1.1

[Option ID = 628%]

2. 2

[Option ID = 6290]

323

[Option ID = 6291]

4. 4

[Option ID = 6292]

71) Match List | with List [l

List |

{A) Constantine
(B) Pope John XXIII
(C) St. Augustine

(D} St. Francis Xavier

N Goa
(Il Hyppo
(i 274 vaticon Council

(I¥) Nicea Council

Choose the correct answer from the options given below ;

(1) (A}, (B)-(I1), (C)-(1N1}, (D)-(1V)
(2)  (A)-(I1), (B)-(IN), (C)-(IV), (D)-(1)
(3)  (A)-(V), (B)-(lI), (C)-(I1), (D)-(1)
(4)  (A)}-(I1}, (B)-(IV), (C)-(1}, (D)-(IN)
-1 % T gai-11 = T hifs
AT
A) R

(B) ™9 i XXIII

(C) ¥ TR

(D) ¥ FiieE SR

= fou v feereul d O 9E1 IO = 999 SIS

(D
(2)

(A-D. (B)-aD, (O)-(dID. (D)-AV)
(A)-(ID), (B)-(ID. (C)-(IV), IH-(D

TEi-11
@ T
an oo

prepp
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(3)
@)

(A)-AV). (B)-AID). (©)-(). M)-M
(A)-ID, (B)-@V). (O-(D. )-1D)

[Question ID = 1574][Question Description = Q71_CSR_SHAAN_20MOV21_51_5hift1]

1.1

[Option ID = 6293]

2.2

[Option ID = 6294]

353

[Option ID = 6295]

4. 4

[Option ID = 6296]

72) Match List | with List [l

List |

(A)
(B)
()
(D)

List 1l
Thomas A Kempis (I) Spiritual Exercises
St. John (I} Confessions
St. Augustine (lll) Book of Revelation
St. lgnatius Loyala (IV} Imitation of Christ

Choose the correct answer from the option given below :

(1) (A)-(1), (B)-(I1}, (C)-(IN1}, (D)-(IV)
(2)  (A)-(IV), (B)-(1), (C)-(ID), (D)-(1)
(3)  (A)-(ID), (B)-(1), (C)-(IV), (D)-(D)
(4)  (A)-(U1}, (B)-(IV), (C)-(1}, (D)-(N1)
T=it-I % Ty gii-I1 =1 e Hifse
-1 11
(A) 979E T, HU\ (D) THrgaIs TTEEE
(B) e w4 (ID = FarE
(C) e e (IID) g% i fareem
(D) de uhry aEe (IV) shiesm A% mige

f= fou o fame § ¥ T8l ST F1 95 iy

1
2)
(3)
9

(A)-(D). (B)-(D). (C)-(ID), (D)-(IV)
(A)-IV), (B)-(IID), (C)-1D), D)-D
(A)-(ID), B)-(1ID), (C)-AV). M)-O
(A)-d1D). B)-IAV), (C)-@. (D)-0D)

[Question ID = 1575][Question Description = Q72_CSR_SHAAN_20NOV21_S1_5Shift1]

1. 1

[Option ID = 6297]

i

[Option ID = 6298]

L

[Option ID = 6299]

4, 4

[Option ID = 6300]

prepp
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| 73) Match List | with List II

(A)
(B)
(©)
(D)

List ]
Mount Gerisim
Mount Sinai
Mount Calvary

Mount Tabore

List Il
(1) Transfiguration of Jesus
(11} Crucifixion of Jesus
{lll) Ten commandments

{I¥) Samaritan temple

Choose the correct answer from the option given below :

(1) (A)-(I), (B)-(I1}, (C)-(I1}, (D)-(IV)
(2)  (A)-(ID), (B)-(lN), {(C)-(IV), (D)-(1)
(3)  (A)-(ll}, (B)-(IV), (C)-(1}, (D)-(II)
(4)  (A)-(IV), (B)-(Ill), (C)-(I1), (D)-(1)
gefi-I % = gei-I1 = frem ifsm
Tl

(A) wsE TWAE

(B) ez fm

(C) WTSZ Ferad

(D) WS 2Ei

Fi9 o v foseal O O mE SO @ 99 T .

(1)
(2)
(3
4

A)-D. (B)-ID. (C)-AD. (D)-(IV)
A)-(AD). (B)-(1I), (C)-aV), M)-(D
(A)-I1ID, (B)-AV), (C)-(D, (D)-(AD
(A)-IV). B)-ILD. (O-AD). M)-(D

w10

(D umEE F1 =g T

(ID) s9mEE i Hoitg | =@M
(IT) =9 syt smem
(IV) wafiea afex

[Question ID = 1576][Question Description = Q73_CSR_SHAAN_20NMOV21_51_5hift1]

1.1

[Option ID = 6301]

L 2

[Option ID = 6302]

35

[Option ID = 6303)

4, 4

[Option ID = 6304]

74) Match List | with List 1]

List |

(A)
(B)
©
(D)

List Il

Ahkam-al-Sultaniyya
Sivar ul-Muluk
Adab-ul-Muluk
Zakhirat-ul-Muluk

()  Nizam ul-mulk Tusi

{Il) Mir Sayyid Ali Hamadani

(ll) Sadid ud-Din Muhammad Aufi
(I¥) Abu al-Hasan al-Mawardi

Choose the correct answer from the options given below :
(A)-(1), (B)-(l}, (C)-(lI1}, (D)=(IV)
(A)-(U1), (B)-(I), (C)-(IV), (D)-(1)
(A)-(1¥), (B)-(1}, (C)-(lI1}, (D)-(M)

(1)
2)
3

prepp
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@) (A, (B)-(), ()=, (P)-(V)

Tft-1 % e gfi-I1 =1 e it
Tt-1

(A) “TEFH IS oAt

®) R o= ooF

(C) e 3 I

(D) TERd 37 95F
it feu e fapeai 1 | @i 3mn = = il
(1) (A)-(D. (B)-AD), (C)-(IID), (D)-AV)
{2) {P‘-}'{m)- {B)'{II}- {C}'(m- (D}'{I)
(3)  A)-OV). (B)-1). (O-ID). (D)-{I)
(4) (A)-ID), (B)-(D). (C)-(III). (D)-AV)

[Question ID = 1577][Question Description = Q74_CSR_SHAAN_20MOV21_51_5hift1]

ti:

[Option ID = 6305]

2. 2

[Option ID = 6306]

3. 3

[Option ID = 6307]

4. 4

[Option ID = 6308]

75) Mat
List |
(A)
(B)
(€)
(D)

ch List | with List Il

List 1l

Guru Nanak
Guru Ramdas
Guru Arjan

Guru Tegh Bahadur

i1
T  Fromgemes g
D R A ot BT
(I} Wam SEH 951 ST

AV) AT 55 ST

()  Bibi Bhani
(II) Mata Gujri
(Illy Mata Sulakhani

(IV) Mata Ganga

Choose the correct answer from the options given below ;
(1) (A}-(}, (B)-(1), (C)-(IV}, (D)-(11)
(2)  (A)-(), (B)-(IV), (C)-(1), (D)-(lIN)
(3)  (A}-(), (B)-(I1}, (C}-(I1}, (D)-(IV)
(4)  (A)-(}, (B)-(N), (C)-(1}, (D)-(IV)

-1 % Y gi-10 %1 fires i

(&)
(B)
©)

T

i

6 T
& IHaH
% 3T5H

ﬂréﬁm

!

s

prepp
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e fou o fopedt & © @@ oW W ==E FiR

1)  @-dDn. B-O. (O)-1OV), (D)-(1D)
2 A1, B)-Iv), (O-1), (D)-I1D
3  @-O. B)-dD), (C)-0D. (D)-(IV)
@  A-Dn, B-In, (G)-O. D)-(IV)

[Question ID = 1578][Question Description = Q75_CSR_SHAAN_20NOV21_51_5hift1]
s U5 |

[Option ID = 6309]
2. 2

[Option ID = 6310]
2

[Option ID = 6311]
4. 4

[Option ID = 6312]

76) Arrange how R.N. Bellah identifies five stages of human civilization from earlier to latest
(A) Historic

(B} Archaic

(C) Primitive

(D) Early modern

(E) Modernv Choose the correct answer from the options given below :

(1) (), (B), (A}, (D), (E)

(2) (A), (B), (D), (C), (E)

(3) (B}, (C), (A), (D), (E)

(4) (A), (C), (B), (D), (E)

ST, ST GRT HHE S| 2l Ui AT B U5 O 918 % H5 § =Jaiog o ;

(A)  fETEE

B) T

(C) it

@) 7 sghS

(E)  agF®

Aol faw T ferehedl | A W I BT = I

@ (O, B), (A), (D). (E)
@ @&.®.0).O.E
3 (B). (C). (A), D). (E)
@ @A) ©), B). D). (E)

[Question ID = 1579][Question Description = Q76_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = £313)
2. 2

prepp
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Option 1D = 6314] "
3. 5 v Your Personal Exams Guide

[Option ID = 6315]
4, 4

[Option ID = 6316]

77) Arrange the following philosophers chonologically from early to later period
(A) Ramanujacarya
(B) Charitanyamahaprabhu
(C) Sankaracarya
(D) Aravinda

(E) Madhvacarya

Choose the correct answer from the options given below :

L @A, ©). B, D). E)
@) (O, A, (E). B), (D)
@ @O, B0, E).’
4 @B, E), D), W, O

Frteafiga 2t #1375 PreEargR T H 91C % %8 0 0 ¢

(&)  ETEE
(B)  HuAmETIY
(©) T
O s
(E) =

= 2w v famedi A 9 UE IO W 9 ey

O Q). ©).®), D), E)
@ (O K. E).®B). D)
3 (D). B (©). E). A
@ (B E. D). A, ©
[Question ID = 1580][Question Description = Q77_CSR_SHAAN_20NOV21_S1_Shift1]

P |

[Option ID = 6317]
7.2

[Option ID = 6318]
3. 3

[Option ID = 6319]
4, 4

[Option ID = 6320]

78)
Arrange the following in choronological order from the earliest to latest

(A) Hemacandra

B) Yasovijaya
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(C) Vattakera Your Personal Exams Guide

(D) Dharasenacarya

(E) Haribhadrasuri

Choose the correct answer from the options given below :

1 @, ©), B, E). D)
@ D). (0. E),A). B
@ B. D). W. 0.5
@ B, ), E) D). A

Frfafiaa =t FremaTEr T ¥ d@e a1 % wA § giEtig o

&) T3
B) =
©) T

D) wEAEH
(B) sl

F= o o fomew § @ w1 SO S 99 i

@B @. (O, (B). E). (D)
@ D). (), (E). (A). (B)
3 B, D), A, ©), E)
@  ®. (), (E). D). A

[Question ID = 1581][Question Description = Q78_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6321]
3.7

[Option ID = 6322]
3.3

[Option ID = 6323]
4. 4

[Option ID = £324]

79) Arrange the following in chronological order (as per recoganise Anga canons)

(A) BhagavatisUtra
B) Drstivada
(C) EcErEngasﬁtra

D) Jiatadharmakatha

(E) Prasnavvakarana

Choose the correct answer from the options given below :

O @. ©. O, E ®
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2 (O, D). B), E). (A Your Personal Exams Guide
B3 (B, (A), (C), (D), (E)

@ (O, &), D), (E) B)

frefafaa # Fowaaan giEta = (T o I = #6 §)

Q) T
®) sfear

©) I
(D)  SrTEEEw

(E) PEEERIETR

f9 fou o o 4 O T8 SO @ 99 i

(1 @A, (©). D), (E). (B)
@  (©. D). B, (E). Q)
3 (B, (A).(C), (D), (E)
G (O, @A) D) E. B

[Question ID = 1582][Question Description = Q79_CSR_SHAAN_20NOV21_51_5Shift1]
1. 1

[Option ID = 6325]
2.3

[Option ID = £326]
3.3

[Option ID = 6327]
4, 4

[Option ID = 6328]

80) Arrange the following in chronological order from earlier to later
(A) Discovery of Sarnath Pillar by Oertel

(B) Discovery of Ajanta caves

(C) Discovery of First rock edict in Girnar by James Todd
(D) Discovery of Sanchi stupa by Alaxander Cunningham
(E) Discovery of Small rock edict by Carlylle

Choose the correct answer from the options given below :
(1) (B}, (C), (D), (E}, (A)

(2) (A), (B), (C}), (D), (E)

(3) (D), (B), (C), (E}, (A)

(4) (E), (A), (C), (B), (D)

fA=Tierd =t Ugd O WIE & Prened § A wl
(A) e g HRAY T A wie
(B)  FrSaT TH I @i

(C) =% 7ic g1 R 8 o= P $it =

T TeEaET ST =TT T = A e
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(E) Fioet g aue aghened Hi @

$= . e e 1 ¥ 581 o = 9 e

@ B ©. D). E). &)
2 @. ®. ©). D). E)
3 D). B). (O E), (A)
@  (E). &) ©). ®B). D)

[Question ID = 1583][Question Description = Q80_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6329]
2. 2

[Option ID = 6330]
3 3

[Option ID = 6331]
4. 4

[Option ID = £332]

81) Arrange the Christian saints in chronological order (from early to later)
(A) St, Chavara Kurikose Elias

(B) St. lgnatius Loyala

(C) St. Thomas Aquinas

(D} 5t. Augustine

(E) St. Paul the apostle

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)

(2) (E), (D), (C), (B), (&)

(3) (B}, (C), (D), (E), (A)

(4) (C), (D), (E), (A), (B)

g Soms dat B T5d ¥ 92 % FIOET § ST e
(A) e TER e o

B) e wfEa wgen

(C) Tz uing uhry

D) e R

(E) e uie g wiioe

At feu mu femreyl o O w3 = WA il

1 @), @B, O, D), E)
@ E.D.©O).B). &
@ ®. .0, E. @
@ (C), D). (E), A). (B)

| [Question ID = 1584][Question Description = Q81_CSR_SHAAN_Z0NOV21_51_Shift1]
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[Option ID = 6333]

2. 2

[Option ID = 6334]

3

[Option ID = 6335]

4. 4

[Option ID = 6336]

82) Arrange the ecumenical council in chronological order:

(A) First council of Constantinople D

(B) Council of Calcedon

(C) First council of Nicea

(D) Council at Ephesus

(E) Second council of Nicea

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E)
(2) (B}, (C), (D), (E), (A)
(3) (C), (A), (D), (B), (E)
(4) (D), (E), (A), (B), (C)

Frafaiaa TEilteE TRugl i 9ed § T 918 9% F PIOEhNER SHaead e

&)
(B)
(©)
D)

E)

= fow o fame § ¥ w91 SR 1 99 e

(D
@
(3)
(4)

[Question ID = 1585][Question Description = Q82_CSR_SHAAN_20NOV21_51_5hift1]

1.1

FEGAT <t TRl gitg
e A i
e 1z Tt

A). B). (O). D). (B
B). (C). D). (B). (4
(©), (A), (D), (B), (E)
D). E). ). ®). (©)

[Option ID = 6337]

2.2

[Option ID = 6338]

3 3

[Option ID = 6339]

4. 4

[Option ID = 6340]

83) Arrange the old Testament personalities in the chronological order (from early to later)

(A) Moses

(B) David
(C) Isaac

prepp
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(E) Abraham

Choose the correct answer from the options given below :
(1) (A), (B), (C), (D), (E)
(2) (B), (C), (D}, (E), (A)
(3) (C), (D), (E), (A), (B)
(4) (E), (C), (D), (A), (B)

uriH w9 forae = Saftheal i UEe U §1E % SIAAEER SEierd ik

(&) T
® =fe
© =
© S
(E)  3m@A

F=1 fon o famewl B O w9 S T 99 I

1 @A, B (C), D). (E)
2 (B (O). (D), (E). (A)
&  (©). @.(E).A). B
@ (B ©). D). A). B

[Question ID = 1586][Question Description = Q83_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6341]
2. 2

[Option ID = 6342]
3.3

[Option ID = 6343]
4, 4

[Option ID = 6344]

84) Arrange the following Umayyad caliphs, chronologically according to their rule
(A) Yazid |

(B) Muawiyah |

(C) Muawivah |

(D) Abd al-Malik

(E) Marwan |

Choose the correct answer from the options given below :
(1) (A), (B), (C}, (D), (E)

(2) (C), (A), (B}, (E}, (D)

(3) (C), (A), (D), (B), (E)

(4) (A), (C), (D), (B), (E)

Frerrtea 30 TacAEieT = 3% WA % HIOEAER sFafiey $Ie

A4 iRl
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(B) mamfe IO
(C) menfem I
(D) %A Olei®
(E) a1
At o e foepedt H & WEl ST B T i
1 @A) B).©0.D).E
2y  (O). ). (B).(E).D
3) (O V). (D). (B). (E)
4 (&) (0. D). (B). (E)

1.1
2. 2
3.3

4, 4

(A)
(B)
©)

(D)
®)

1)
2

[Question ID = 1587][Question Description = Q84_CS5R_SHAAN_20NOV21_51_5Shift1]
[Option ID = 6345]
[Option ID = 6346]
[Option ID = 6347]
[Option ID = 6348]

85) Find out a correct sequence on the basis of Jap Ji
(A) Gyan Khand
(B) Dharm Khand
(C) Saram Khand
(D) Karam Khand
(E) Sach Khand

Choose the correct answer from the options given below :
(1) (B}, (A), (D), (C), (E)
(2) (A), (C), (D), (B), (E)
(3) (A), (B), (C), (D), (E)
(4) (A), (C), (B), (D), (E)

9 S F SNUR W TE HH H e File

T GO
aH @us
T |Us
FH TS

= Gus

Hi= feu 7o famedt 4 9 g€l 398 = === Fifsw

(B), (A). (D), (O). (E)
(&), (C), (D), (B). (E)
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3 A, B). ) D). (E)
@ A (). ®B) D). (E)

[Question ID = 1588][Question Description = Q85_CSR_SHAAN_20NOV21_51_5hift1]
11

[Option ID = 6349]
2. 2

[Option ID = 6350]
3 3

[Option ID = 6351]
4. 4
[Option ID = £352]

86) Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A) : An object known as totem, usually an animal or plant or its symbol, that a

clan or tribe views as a sacred ancestor
Reason (R) : Even in modern society some people worship their ancestors
In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A}
(3) (A) is true but (R} is false

(4) (A) is false but (R) is true

= gt o fog e # : u afEE (Assertion A) F w9 ¥ faflga 2 a1 g@U 3% wRW (Reason R)

‘-LE':I'EI:

IR (A) I AT ST 2 A AR W Ok 93, dtEr 41 9 T 2 g o 99 3 sl

T WeR TS " )

F (R) : BTAlth Yt T # ofi T A gEs O w1 2

U FHUAT H ATl °, F= 90 0 frepedi o ¥ A SR H w9 HIN

(1) (A) 3R (R) IA T § 3 (R), (A) H gz =qme 2
@) (A s R) I 9T E, e R), (A) =i wa) oA @ 2

3)  (A)Tea 2, Afrd (R) o19ca &

(4) (A) 378 2, e (R) ¥ 2

[Question ID = 1589][Question Description = Q86_CSR_SHAAN_20NOV21_51_5hift1]
R

[Option ID = 6353]
2iid

[Option ID = 6354]
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[Option ID = 6355]
4, 4

[Option ID = 6356]

87) Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R

Assertion (A) : One who knows ‘Brahma’, he knows every thing.

Reason (R) : Knowing the cause, effects are known

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

{4) {A) is not correct but (R) is correct

Hr 37 = fim e 2 : O oI (Assertion A) F w9 # i @ A1 g1 3w w0 (Reason R) %

E':[‘Ei:
1A (A) ST FR B AT 2, TE T TP TEA 2
FRT (R) : TR0 T FEH T HE I e | 8

IR U 6 e o, i Re e faerewl § ¥ ey S IO 1w R

1) (A ik ®) A w2 s R), (A) B w@ e

@ (A IR @) I T E, AR (R), (A) ) e T
3 (AT I ® T T R

@ (AT T, G ®) w3

[Question ID = 1590][Question Description = Q87_CSR_SHAAN_20NOV21_51_5hift1]
s U5 |

[Option ID = 6357]
2. 2

[Option ID = £358)
2

[Option ID = 6359]
4. 4

[Option ID = 6360]

88) Given below are two statements
Statement (1) : All tirthankaras of Jainism were human beings.

Statements () : As according to Jainism the supreme knowledge can be achieved in human birth only
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In the light of the above statements, choose the correct answer from the options given below

(1) Both Statement (1) and Statement Il are true
(2) Both Statement (I) and Statement |l are false
(3) Statement (l) is true but Statement (ll) is false

(4) Statement (1) is false but Statement (I} is true

ﬁﬁ%%ﬁﬁ“%:
F47 (D) : S o 0 ey dfee w9
Fuq (II) ; Fifep A7 ¥ % FTAR b T AT 4 5 2 W TR S aRar 21

ITUH YA T AT §, T v Tu et § ¥ @8 S W 9w i

() = (D) o (1) 2 gea 3
(2) =W (D) I (II) TFT o &
(3 =9 (D) 9 3, e sy (1D 319 2

(4 w9 (D) I8 2, dfrT w9 (1D T 2

[Question ID = 1591][Question Description = Q88_CSR_SHAAN_20NOV21_51_5hift1]
11

[Option ID = 6361]
2. 2

[Option ID = 6362]
et

[Option ID = 6363]
4. 4

[Option ID = 6364]

89) Given below are two statements: One is labelled as Assertion A and the other is labelled as

Reason R

Assertion {(A) : The gospels of St, Mathew, 5t, Mark and St. Luke are called “Synoptic gospels”,

Reasons (R} : These first three gospels of the Bible have more or less common contents

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

e g o fog e 2 ¢ v AfiemeE (Asserﬁonﬁ)%wﬁ%fﬁﬁ%ﬁww%w (Reason R) % &1 9
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aifiEaE (A) de #e, " ureh 3t de oy % gEuEr e Mieiea” #Eed 3

O (R) : ST % 3 diH GEATaRl % FHd ° FHSE T 2
I9LE FUAT % A 4, e g e famedt 4 O ey I It o 99 i

(D) (A) AR R) I T 2 3R (R), (A) F T = 3
(2  (A) 2R R) I T9 8, I R). (A) i TF = 19 2
(3) (A TE 2, Al R) wdl @ 2

(4 (A TE E R, | ) Td 2

[Question ID = 1592][Question Description = Q89_CSR_SHAAN_20NOV21_51_5hift1]
R

[Option ID = 6365]
2. 2

[Option ID = 6366]
3. 3

[Option ID = 6367]
4. 4
[Option ID = 6368]

90) Given below are two statements

Statement (1) : The experience of Holy is a experience of dread

Statements (1) : Truth will never be known till we do not exercise our right to believe in it.
In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement (l) and Statement Il are true

(2) Both Statement (I} and Statement || are false

(3) Statement (I} is true but Statement (ll) is false

(4) Statement (1) is false but Statement (I} is true

H= 2 o g o 2
F (I : wipren =1 e i w3 aren g 2
F (1) : e 79 G TE A T T qoh I A T A

YU WA * T 8, F= w1 Fwew € ¥ wE s W = Fifaw

(D) = @) W AD) T aA 3

(2 FW () I @) I o 3
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(@) T (D) 3= 2, S w5 () 79 2

[Question ID = 15923][Question Description = Q90_CSR_SHAAN_20MOV21_51_5hift1]
1. 1

[Option ID = 6369]
2. 2

[Option ID = 6370]
3.3

[Option ID = 6371]
4, 4

[Option ID = 6372]

Topic:- 62COMPARATIVE S R_B

1) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus

progresses further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic

life is the practice of five great vows of complete non-vioclence, complete truth, complete non stealing,
complete sexual abstinence and practice of godliness and complete lack of possessiveness.

To practice great vows is to observe the vows mentioned earlier with greater fineness.

In order to protect his great vows the monks also practice eight subsidiary vows knows as Samitis and Guptis.
Being restrained and careful in walking; restrained and careful use of monastic necessities such as

books, etc; restrained and careful in speaking the beneficial, brief and soft speech, restrained

and careful in taking food, and restrained and careful in doing one’s daily chores is called observing five
samiti or comportment. To be restrained in one’s mental, verbal and physical activities is the observance of
hree guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation,

According to the passage the monks win by penances the following
(1) word (2) sleep

(3) death (4) enemies

refefad s=ae & gaaHl e ufey 3R i fiy wa %1 s ity

srtem =1 g i we % T araes BUw: WMSEE § Y99 Ha 21 39 a8 98 TRYE FH 9 3 Sga
2| Wy SEe e i e 31 e onfe F W gena ¥ UeR wN Geeal B 9n w21 56
sfean =1 qotar, e H sm@vsal, Hed qu = ST A At HiE avg o 99 T @ w9 o @
Ui BiaT 3| ATE el ohl gue o fere afifa o fteal w1 werm s 21 99N qE geah e S
WA S BRaTetl =1 e vemid @1 w21 W, a9 SR W Al 99 it 1 e i g
2l

L

qf wr Hgreat, g afifet st = qftat o1 ures it gan el o S adi A o wreEn e 21
aut = gro g Fagn = Sfiae 2, e # g w2

=T & AR WY q9 g W e B
1 TER 2 T
@ T3 @

[Question ID = 1594][Question Description = Q91_CSR_SHAAN_20NMOV21_51_5hift1]
1. 1

[Option ID = 6373]
5, 3

[Option ID = 6374]
3.3

[Option ID = 6375]
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[Option ID = 6376]

2) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas, The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness. In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance, Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

Restraints of activities of body. speech and mind by monks is called
1 Anuvrata @ S iksavrata
(3) Samiti (49 Gupt

JafAfga sig=ag i e Te 1fer iR A= fow e = 3w ity

srfea =il quial = WE Y A BAN: WA 9 TG A 2| 39 a6 I8 TR FE H AT S
2| MYy SEF e Hi e 31 atEm onfe g W gena ¥ 9o wN Geeal B 9ne w21 56
sifeat 1 qurar, swrad i swEvsdr, ¥o 9w g SwE A ot #E aeg e 98 9 9 w9 o W
Ui BiaT 2| ATE el ohl geen o fere afifa o fteal w1 wrern s 21 S9N yEe gEah e s
F 3IIAT AN TG, TAAGEF e, TEgEek f2a, i it i 9= atemn, gangds smer o A
WA S BRaretl =1 e vemiid =1 wed 21 T, a= SR e S 99 it # e i w6 g
2|

4
qfy e "great, g wtbfet it i qfiat o1 urem i gen Sl v S adi A ol wreeEn e 21
aut = gro g Fagn = Sfiaa 2, e g w2

T[TY G T, T AR B H IR HFAH FAT T8 Tl ©

(1)  =AEd (2) Trama
(3) = @ Tfa

[Question ID = 1595][Question Description = Q92_CSR_SHAAN_20NOV21_51_5hift1]
154

[Option ID = 6377]
Lok

[Option ID = 6378]
i

[Option ID = 6379]
4. 4

[Option ID = 6380]

3) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness, In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc¢; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis,
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Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance, Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.
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According to the passage the types of penances are
(1) 2 (2) 8
(3) 10 (4) 14

sriferfiae srmae =+ gauH! gEe Tfer iR e for um # 3w g

stem 51 qon A wma F o aa U WMySEE 9 TE9 B 3l 39 G 98 ORI F6 AT S5
2| My SEF e Hi e 3 At ofe g W gena ¥ 9o wN Geeal B 9n w5 21 56
sifean 1 gotar, e i sm@vsal, Fed qu I ST AL At HiE avg o 98 9 e w9 o @
ure BT 3| 1Y HEREl =Rl guaT o afifd o0 ftel 6 werm v 3| 9 et ek snie At
F 3IAT AN TG, TAAGEH e, TEgE fa, fim it i 9= atemn, gangdss smer o A
TYET S BRaTetl =1 T vemiid @ w21 W, 99 oI W A 99 it # i w6 g
2l

o

qf e Hgreat, g atifet st = qfat o arem s gen Sain v S adi s o wreeEn e 21
at = gro g Fagn = Sfiaa 2, e # g w2

IT=EE % SUR a9 *F g B
o 2 (2) 8
(3 10 4) 14

[Question ID = 1596][Question Description = Q93_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6381]
2. 2

[Option ID = £382]
3 3

[Option ID = 6383]
4. 4

[Option ID = 6384)]

4) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness. In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc¢; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis.

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

The types of Mahavratas, samitis and guptis accordingly are
(1)7,5,5 (2)3,5,2
(3)5,5, 3 (4) 6,4, 4

sraiforfiae srmae = gyl w@e 1far iR e for um # 3w g

srfemt =il uial A WO 3 Y 4 BAN: WA 9 TG e 2| 39 a6 I8 TR FE A ST Fed
2| g 9= TETEal i W 21 AfEE o 9 W geHal ¥ WeH w1 Wetddl B 9w R 2| gEE
sifean 1 gotar, e 1 sm@vsal, Ted qu A ST A Mt HiE aeg o 99 9 @ w9 o @
Ui BiaT 3| ATE sl ohl e o fere @bl i fteal w1 wern s 31 S9H qE qeah e ang
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q-

qf wr "great, g atite it = gftat 1 arem wa gen Sl v S adi s o wreEn e 21
aut = gro gH Fagn = Sfiaa 2, e # g w2

e, atafaat wd gt % w9 7 9 3
1 7,55 (2 3,52
@ 55,3 @) 6, 4,4

[Question ID = 1597][Question Description = Q94_CSR_SHAAN_20MOV21_51_5hift1]
1. 1

[Option ID = 6385]
2. 2

[Option ID = 6386]
3.3

[Option ID = 6387]
4. 4

[Option ID = 6388]

5) Read the passage carefully and answer the following question that follows:

In order to practice complete non-violence, the lay follower enters the monastic life and, thus progresses
further on the scale of (Spiritual) virtue stations or gunasthanas. The monastic life is the practice of five
great vows of complete non-violence, complete truth, complete non stealing, complete sexual abstinence
and practice of godliness and complete lack of possessiveness. To practice great vows is to observe the vows
mentioned earlier with greater fineness, In order to protect his great vows the monks also practice eight
subsidiary vows knows as Samitis and Guptis. Being restrained and careful in walking; restrained and careful
use of monastic necessities such as books, etc; restrained and careful in speaking the beneficial, brief and
soft speech, restrained and careful in taking food, and restrained and careful in doing one’s daily chores is
called observing five samiti or comportment. To be restrained in one’s mental, verbal and physical activities
is the observance of three guptis,

Beside observing five great vows and five Samitis and three guptis, the Monk also practices internal and
external forms of penance. Through the practice of these forms of penanace, the monk overcomes sleep,
becomes streadfast in Meditation.

Identify the correct statements in the light of the passage :

(1) The life of monks in practice of

(2) Monk does not regulate the actions of triyoga

(3) A monk practices the penance with the mahavratas, Samitis, Guptis

(4) A monk does not observe great vows like samiti and gupti

FreifAfiga FTg=ae = FEgH! gesh Tfer 3 = fau oga =0 s <ifmy

stfea =il quial = Wa % Y A BAN: WA 9 TG A 2| 39 9 I8 TR FE H ST S
2| MYy SEe e Hi @A 3 atEm ofe aa W gena ¥ UeR wN Geedal B 9ne w21 56
sifeat 1 qurar, swrad $ swEvsdr, ¥o 9w g SeE A ot #E aeg e 98 9 @ w9 o W
ure BT 3| 1Y WEREEl =Rl guaT o o afifd oi gftel = werm v 3| 9 et Teah snie ast
F 3IFAT AN TG, TAAGEF weqT, TEgEek fa, fia it i 9= atemn, gangdss smer o A
WA S TRaretl =1 e vemid @1 wer 21 W, 9= SR W Al 99 it w1 w6 g
2|

o

qf e Hgreat, g wfbte st = gfat 0 ures wan gen Sl v S adi s ol wreeEn e 21
aut = gro g Fagn = Sfiaa 2, e # g w2

IT=E H ATAR WEl FYA I TEAH

(1)  d-<ited, Tt 6t 9T 2
@ iy BEm gEw g = gat oo Tel w2
(3) Gy weral, afifaal, ftet % ge-ara 9u At o e w2

o A
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[Question ID = 1598][Question Description = Q95_CSR_SHAAN_20NOV21_51_5hift1]
1. 1

[Option ID = 6389]
7.2

[Option ID = 6330]
a3

[Option ID = 6391]
4, 4

[Option ID = 6392]

Topic:- 62COMPARATIVE S R_C

1) Read the passage carefully and answer the guestion that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion, You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you,

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration,
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the practice that makes a practitioner distracted and prevents from practicing one’s religion
(1) Noble truth (2) Avoiding two extremes
(3) Self-indulgence (4) Middle-path

AT e T ALY Ter R Fi= Ry vvT w1 3w iR

faegen! difem & & WA g @ o W T W =gl e, stem Wi A fom g A €., sven,
wETes, ges H ol % for smfua it switsa oAl aren ¥ S SR 78 gREeR auer 8 S
Ya1 BT GF 9 WE B AN I W 2 WA T8 o het| g T, seat 9, g |
3t Frafor =1 7l YW R WER| g 2 WeAw UM g2 WA R gu g @ Fige TE @ aee A gn
TR 1 HE T W AC TEA B 9l g% 999 § @ 38w @ w1 9, vfasm 3 off gwel # fiR
S|

fagsti! g ¥ 30 o ) o Ao A g A R S e o W ) s B ol fit oA e
we gfE, WTAE WeY, T M, YA HAid, BEA SIS, WP SAEm, T Wi 3R T
Ty # I 2

e FA W AR B A @AY AR F ST 27 TR ST AR A 2 S T 3 W W B TS
quTfy &% W1 21 921 a8 Wrl 2 S o1 wex 7 ofR gr@hg f s 9= e 2

3H HIEAT =hl 9EEH B S UIGH i T9YE B 4dl & AR guurer § S 997 Bl 8
(1) =@ T3 (2) @ o=al W T

(3) sFemwm ¥ fom g (4 wom T

[Question ID = 1599][Question Description = Q96_CSR_SHAAN_20NOV21_51_5hift1]
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[Option ID = 6394]
3.3

[Option ID = £395]
4, 4

[Option ID = 6396]

2) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences, In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth,

Identify the practice that is NOT desirable in developing higher knowledge
(1) Develop non attachment (2) Follow eight fold path

(3) Straying from the middle way (4) Avoid two extremes

seiferiiga S=a H WEUHgE ey it A i vz = sw difm)

firegatl) difemm € % STa g & AT B TE FON W) Teen, sfEA W A fom g 98 4, s,
wiEies, ges S S % foru smiem it stz aRomEt aren 2] 3 AR TE g geae § SR
YaT T G Y YT B AT SR O B WA T HW G| g iy, See 3, T wy
SR At 1 T TR AR TEe| T 2 WEA AP ¥ 52 W o gu gEt | g T 8 e afe @
7R ) Y 9 TW I UES @ Al gu 9adF § Al gl o geEn s d, afaes § o gwel 3 fr
AT |

fregani! gma 3 =9 o 1 e meem w g A 2 S F oA § UEd v) S o an o e oA
aep 3, WAE ey, TOT 9F, WA FARd, GT TS, AT s, T O o s
TuTy ¥ I B

e FH W AE 2 I @R H AR F ST 27 T8 TR AT A 2 W TOr I U SR e UE

quTiy 9% W1 2| Fal a8 WR 2 S o T 3 oiR @R i AR TR 9 3 *

IY ATEAT hl Y29 B Sl I=G FAF 9TH B H 10 AT B

(1) WS (2) sTEiliEs ant F A
(3)  #=W AT T T2 A (4) =l H A T

[Question ID = 1600][Question Description = Q97_CSR_SHAAN_20NOV21_51_5Shift1]
g st

[Option ID = 6397]
7.2

[Option ID = 6398]
3,8

[Option ID = £399]
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3) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation,

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences, In the long run it will prevent

you from practicing your religion, You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you,

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the path that is forbidden by the bliss-gone to the monks who has taken ordination

(1) the path that leads to cessation of suffering - a noble truth

(2) the path that starts with correct view and ends with correct concentration
(3) the path of two extremes

(4) the eightfold path exclusively of the noble ones

siferiiga o=a H WEuHNgES Ty ot A iy vz = 3@ )

figgati! Sifem =R % ST g9 @ oFA1 B TH A A0RY| UEeA, A W ° fom 2| 4% 2, 3w,
wiETies, gos S S o for sfua st steifsa afoml aren 21 S s T g aeuTeE § SR
YT T G Y YT B AT SR W B W T W gwet| g e, See 3, T vy
SR AT 1 T8 TR AR TR T 2 WA AP W 52 W G gu 3@ ® Fe T 8 o A @
T B Y IR T Wie YET o df 9F 999 F af gl o @A w0 @, afger F offt 5wt # fir
AT

frgani! g + =g wd R 23 aeEw anl g A 2 S 9 sl © 1Ed ) S fow wd o e A aw
uepl 3, §OAE AeY, TON 9T, WA ARG, GO TS, He sarm, T 9 o e
TuTy ¥ I B

I HH @ AE F A GERAG B AR F @ 27 Tg R A & & A TR Y TN TR T

quTiy @7 W1 2| Ta1 98 WF 2 S AF T 3 oK @G H SR TR T 8

< T i vrmE R ek Fvy i e e 3 wafsea g et w4 2

(1) == 2 9 gy H SR o S e 9E gt B
(2) 9% 9Tl T 3 ® WY 3 TR dETY 9% AT 2
(3) & UW B A I o AR 2l
() < Al wrE s ant 2
[Question ID = 1601][Question Description = Q98_CSR_SHAAN_20NOV21_S1_Shift1]
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[Option ID = 6401]
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[Option ID = 6402]
3.3
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4) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation,

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences. In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you,

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes, The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth.

Identify the qualities of the path of extremes

(A) unworthy

(B) extra ordinary

(€) shallow

(D) enlightened

(E) worldly

Choose the correct answer from the options given below
(1) (A), (D), (E) only (2) (B), (C), (D} only
(3) (A), (C), (E) only (4) (A), (B), (C) only

siferiiga o=a H WEUHNYES ey it A i yzT = 3= )

figoti! Gifem B9 F SWIG g & ST B T w0 =0 Teel, staA WP § o g 98 2, 3w,
wEItes, e A sl % forv amfm st swEifse afoml awn 21 s s 98 g adued | e
YaT T G Y YT B AT SR T B W T W gwet| g e, see 3, wes uy
SR AT 1 T8 TR AR TEA| T @ WEA A9E § g2 W G gu 3@l ® Fe T 8 o= A @
7 I Y IR 3 Wie YETW o df 99 999 # af gt o amer w0 A, afger F off 5wet # fir
I |

frgani! g + =m wd R SvEn aeEw anl g A 2 o @ el © 1R ) S e ad o e A aw
uep 3, WE Aoy, TON 9r, TRAE FARFd, TT SIS, AT sarm, T O o e
TuTy ¥ I B

I R W AT 8 A GEEREG B AR A A 27 T IR AW o 2 A T I Y AT A WA

quTiy @ W1 2| T2l 98 WF 2 S IF T 3 oK g@hRg i AR TH T 2

FFed] dTeT | o ST <kl UEEE B -
(A A

(B) STETEIOT

(C) BUAT

mh AT =T
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(E) O

$= fn e e 4 ¥ w81 T = 9 i

1) Fa(A). D), E)
2 == (B). (C). (D)
3 A (A, (C), (B)
@ = QA). B). (C)
[Question ID = 1602][Question Description = Q99_CSR_SHAAN_20NOV21_51_5hift1]

1. 1

[Option ID = £405]
2. 2

[Option ID = 6406]
3.3

[Option ID = 6407]
4, 4

[Option ID = 6408]

5) Read the passage carefully and answer the question that follows:

Monks, there are two extremes that you should avoid when you have taken oridnation.

First, do not follow self-indulgence, which is shallow, worldly, ordinary, unworthy of a

noble one, and attended by undesired consequences, In the long run it will prevent

you from practicing your religion. You will become distracted and unable to develop
nonattachment, you will not enter into the state of cessation nor develop higher knowledge,
nor attain the perfect awakening of . On the other hand, straying from the middle way,

you will not pass beyond suffering. If you mistreat your body so that it suffers and is harmed,
you will face difficulties as can be observed right now and in the future even further misery
will fall on you.

Monks, the bliss-Gone teaches the Dharma by showing the middle way that does not fall into
either of two extremes. The Dharma that he teaches is one of correct view, intention, speech,
action, livelihood, effort, mindfulness and concentration.

What is the path that leads to the cessation of suffering? It is exclusively the eightfold path of
the noble ones. This is the path that starts with correct view and ends with correct concentration.
It is called the path that leads to the cessation of suffering - a noble truth,

Given below are two statements : One is labelled as Assertain A and the other is labelled as
Reason R,

Assertion (A) : The eightfold path is within two extremes

Reason (R) : Following anyone of two extremes will prevent, a practitioner passing beyond the suffering.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A}
(3) (A) is true but (R) is false

(4} (A) is false but (R) is true

weiferiiga S=a H WEuHYES ey ot A i vz = 3w )

firzgati! Siftm &9 % SWIG g 3 AT A TE FON Y| wEen, sfEm W A fom g ws 4, s,
AIRE, T S e o T AT i s aRoT T B A AR T T e E e
YT T G Y YT AN SR W B W T R gwet| g e, See 3, T 9y
SR AT 1 T TR AR TEe| T 2 WEA AR Y 52 W Gwd gu g™l | Fee T 8 o A
e A g 3w S e A 2 A g A d d gl awen w9, wfer 3 o @ A P
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frgant! g 4 3o w9 1 23 aem ant g 2 S g we O R B) IH e wd ) demn A ag

Aol 3fE, TOAE Aoy, TOT 9F, TRAE FAEd, ST TS, IO A, T O o e
quTiy ¥ T

e FH W AE 2 I g EFRg H AR F ST 27 T8 TR AT A 2 S TOr I U SR e U
quTiy @ 1 2| Tal 98 WF 2 S I T 7 oK 3@ i AR TR T &

I T %y ffu e 2 ;v Tl {Asserﬁonﬁ)%ﬁﬁ%‘%ﬁ%ﬁfﬁﬁﬂﬁﬁﬁw(ReasonR)

-
R B
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T (A) STETRER AP & of <l | 2

F (R): 2 a1l A @ PEft w1 ot sTEen W R g@fEta @ O 2 R

U R H SE H, 2 e u e 1 ¥ w19 3w 99 SR

(1) (A IR (R) I T 2 3R (R), (A) F1 @ wamEw 2
@) (&) ik (R) I v 7, <fF R), (A) Fi v oarem w6 2

(3) (A TAEZ, A (R) 95 2

(4) (A 27Fd 2, @i (R) 9e9 2

[Question ID = 1603][Question Description = Q100_CSR_SHAAN_20NOV21_S51_Shift1]
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1

[Option ID = £40%]
2

[Option ID = 6410]

.3

[Option ID = 6411]
4

[Option ID = 6412]
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Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distmbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% s B
Sales (SA) 12% 5:3
Construction and Maintenance (M) 9% Bid
Professional (PR) 18% Hal
Management (MA) 21% 3:4
Production and Transport (PT) 19% D1a
Others (OT) 6% 3:68
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(%) T @on yEa-ufEen wesw oTua w2 i &l % Fo wEew 6 wewm 80 @ 2|
TfeTT A 138 T STS] % STER W T o Ia% i)

Td % A 1 & foawor
YR 7 &3 I o Frdere
wfcra (%) f | gea-afeem agTa (307 )
Ta (TH §) 15% 3:92
ey (Tw 1) 12% 5:8
Fmtor 3 e (i o) 9% 5:4
ArETEE (0 9IR) 18% 5:7
&AW U) 21% 3:4
Ieures 3R R (4 2) 19% S
31 (a1 &) 6% 3:b

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

weft &t i e g SEiee 6 oitud dom 991 37 (Z9mes 6 g S a9)

(1) 6.39 <& (2) 4.69 TE

(3)  5.96 =@ @) 7.48 9@

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8025]
2 [Option ID = 8026]
. 3 [Option ID = 8027]
. 4 [Option ID = 8028]

PR e

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% Ji2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% bod
Professional (PR) 18% e
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5td
Others (OT) 6% 3:6

frefafan ofee w faem fifse fed us @ ge ot § aoem & ffts gt 4 ara % wefse = gfoa
(%) faomr qen qE-ufgenn seee saE qmiEn T g wfl @F o Fe eEed H W 80 A 2|
qrferss o f3u 77U 3ehgl o YW W 9e = AL Sy

TG % FAES 1 AAa
TR &1 &3 ARG T FHEA

sferera (%) Tereror | ge9-ufger @gue (g ¥ )
oo (vy 3) 15% 3:9
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Tow (T 1) 12% 5:3
famtor it smeaor () 9% 5:4
e (i 31R) 18% 557
oA (W ) 21% 34
IeaTEq 3R s (d #) 19% 5:3
3= (3t &) 6% 8:5
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The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%
(3) 320% (4) BO%

tg § 3 & oR & # wreka afeen wRee g9 gen @ w & § weka @ weea B g 5
feren e 27

(1) 330%
(3) 320%

(2) 318%
4y 80%

[Question ID = 2008][Question Description = Q02_GP_20N0OV_S1_SHAAN]

b

e it R

3)

1 [Option ID = 8029]
2 [Option ID = 8030]
3 [Option 1D = 8031]
4 [Option 1D = 8032]

Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ju
Sales (SA) 12% Han
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:68

Frefafan feem W e Hift formd o & gn 9 9 oem % fofim omi 4 wwa & welse = wfoea

(%) T o YEa-ufEen wesw oTue w2 'l & % P wEew 6 wewm 80 @ 2
At 7 foT TU RS1 % MY’ W TRT o SR A

T % hrEiSe ol & faa
TR 67 & I o Frere
stcd (%) form | gea-wfeen ogu@ (3: 9 )
a1 (7@ 3) 15% 3:2
TeE (TE T) 12% 5:3
Fmtor 3 e (4 o) 9% 5:4
ArEeEe (d 2TR) 18% 5:7
TeEA (W U) 21% 3:4
Ieures #IR ufass (4 ) 19% 5:3
ar=a (an 1 A% 2-h
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The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

(1) 82% (2) B7%

(3) 89% (4) 85%

TH T 3R TN T &9 § AL 95 BEEd H Fa G 6 A 49 § T HEee  fe I T OaTET

ToraaT widwa 27
(1) 82% @ 87%
(3) 80% 4 8%

[Question ID = 2009][Question Description = Q03_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8033]
2. 2 [Option ID = 8034]
3. 3 [Option ID = 8035]
4, 4 [Option ID = 8036]

4) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distrbution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M : F)
Service (SE) 15% Ju
Sales (SA) 12% Han
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 543
Others (OT) 6% 3:68

Frefafan arfeem W e Hift fomd o & g 99 9 oem % fafiw omi 4 wwa & welse = wfoea
(%) o a1 geu-afgen e oum qmta T 2wl #El % P wEww G 80 9@ 2
aiferst 3 T T ATRST F AR W ATT o TR o)

T % hrEiSe ol & faa
TR 67 & I o Frere
stcd (%) form | gea-wfeen ogu@ (3: 9 )
a1 (7@ 3) 15% 3:2
TeE (TE T) 12% 5:3
Fmtor 3 e (4 o) 9% 5:4
ArEeEe (d 2TR) 18% 5:7
TeEA (W U) 21% 3:4
Ieures #IR ufass (4 ) 19% 5:3
317 (a7 &) 6% 8B

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs
(3) 5.7 lakhs (4) 13.2 lakhs

TH T SR TH T A FEE Aigen FwEsa i FA qem o § & g7 ¥ Feka afgen sEsa B aem

e ey 20
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1) 5.1 @@

(3) 5.7 A

@) 7.5 @

4) 13.2 9rg

[Question ID = 2010][Question Description = Q04_GP_20NOV_51_SHAAN]

1. 1 [Option ID = 8037]
2. 2 [Option ID = 8038]
3. 3 [Option ID = 8039]
4. 4 [Option ID = 8040

%) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce 1n all the sectors put together 1s 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and Maintenance (M) 0% hoyd
Professional (PR) 18% B: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% H5:3
Others (OT) 6% 8:b

Trefefign wfee w faem fifve e o e g ot = TR & fafhe gt 4 ara & wefsw = i
(%) T a1 Teu-nfgen FEEE SEUE qmiE T &1 Gl &4 % Fa wEEd B GEn 80 9@ 2l
drfersst o 138 U SMihs) % MG 9T YT % I 4]

9 % S 1 A% G
TSR, o1 &5 U =1 e
st (%) fereor | gev-migen g (g A )
o (d %) 15% 3:2
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fmtor it smraor (@) 9% 5:4
TheE (dt 2TR) 18% BT
Wee (T U) 21% g d
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What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT

sectors put together?
(1)17 : 39 (2)16 ; 37
(3)16: 35 (4)16: 39

ot w & ° wrERd AiEen FrEEd H FE SR d o vd o1 A &6l A HERa 569 wEea B gel Gedl

SIS o 27
(1) 17: 39
(3) 16:35

(2) 16:37
(4) 16:39

[Question ID = 2011][Question Description = Q05_GP_20N0OV_S1_SHAAN]

1. 1 [Option ID = 8041]
| 2. 2 [Option ID = 8042]
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Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

ALATE = FE T 3 g AR R ST gee i aTea FE SR 36 SHatedd TgdIsl W Bl 8 7
1 T wR @) ey W

3) HHwX (4) @ e '

[Question ID = 2012][Question Description = Q06_GP_20M0V_S51_SHAAN]
1. 1

[Option ID = 8045]
2. 2

[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?
(A) Self efficacy

(B} Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :

(1) (A) and (B)

(2) (B) and (C)

(3) (D) and (E)

(4) (B) and (D)

frafafeaa 3= gfefy s amaett 6it gt 2 ©% stomm gad fafie wral % meam | e foen
T 2| 9 9T S TR 1ET R avant 3| 3 @ i df guaT SHaRR AT % i ot 37

(A)  @Arca-@aal (ame)

(B) A

(C) Ty # wiea

(D)  wgo

(E)  F8AEan

= feu o oot 4 ¥ @Et I = =Ea i
(1 @R @B

2 (B
(3 (D) R E)
@ (B)mD)

[Question ID = 2013][Question Description = Q07_GP_20NM0V_S51_SHAAN]
1. 1

[Option ID = 304%]
2.2

[Option ID = 8050]
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| 3.3

[Option ID = 8051]

4, 4

[Option ID = 8052]

3) Match List | with List Il
. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List |

List Il

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method

(I} Using Swayam and Moocs

(B) Open and distance learning method (ll} Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(1), (B)=(11}, (C)=(IN), (D)-(1V)
(2) (A)-(1I}, (B)-(1¥), (C)-(1), (D)-(1I)
(3) (A)-(IV), (B)-(N), (C)-(N), (D)-(I)
(4) (A)-(ID), (B)-(), (C)-(IV}, (D)-(NII)

-1 % e gEf-I1 1 fiens $ifore) g=i-1 9 3= sifam weeneti | foram £ fafy= & 8 8, o=fs g=h-

11 % srferrm fafet <6 wamesficiar ser B ads & 78 3

(4)
(B
(©)
D)

5 fov o fawed O O 9 ST w1 99 Hi

1
2)
(3
4

it

Baragor it fafern
-G i Srafharcres i
Ty it gl arftrm fafly
foreqor 1 Safwes fafy

freror <t aTTemE &Y

(A)-(D, (B)-AD), (C)-(1L), (M)-dV)
(A)-d1L), (B)-(IV), (C)-(I), (D)-(II)
(A)-AV), (B)-(I1I), (C)-AD), (D)-(T)
(A)-aD). B)-(). (C)-aAV), (D)-(I1I)

Tt I
U] SEH i dhAlD
@) Taae AR gy % 9=
(I AR SR Yot
(I1D) WiggwR Frgeumeh ami
(IV) uical % my-ary fames we

[Question ID = 2014][Question Description = Q08_GP_20N0OV_S1_SHAAN]

e it R

. 1 [Option ID = 8053]
2 [Option ID = 8054]
. 3 [Option ID = 8055]
. 4 [Dption ID = 8056]

4) Given below are two statements
Statement (1) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and

abilities.

prepp
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Statement (I} : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:
(1) Both Statement (I} and Statement (ll) are correct

(2) Both Statement (1) and Statement (l) are incorrect
(3) Statement (1) is correct but Statement (ll) is incorrect
(4) Statement (1) is incorrect but Statement (ll) is correct

=Y (D) -

97 (1D) :

Iqeifey offt stfyverar ofteror = wdenfil & T of 39t amar #i ot @i =

ST e % e AR {3 S 2

Fegfg =t wlam i nad =fraa adean wenfiE & ffie smer 3 o =



WWW.prepp.in .repp

AT = = Y9 O dIR ke =rd 2 Your Personal Exams Guide

SUUE FIA T A 1, § o T fwedl 0 @ 9w SuE SW W 9 i

1) w9 @ AR A 2 @ 2
(2) =W (D) R 1) = e B
3) =W O = 2, A w (D) e R
@) FR O)TeE 3, S B9 (D) w8 2

[Question ID = 2015][Question Description = Q09_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4, 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R}.

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

H gt wom g e ¥ - T fHEU (Assertion A) % 9 7 faflaw 2 @ @ 3wEF 0 (Reason R)

Hway .

ATHHIT (A) : fregor & sl 3k g & A sl weEar yonett o ff v siftem gfommi
h! TEAH 9T 2

FROT (R) : fordft ol fneaor werar wonedt =i siftpm afifafaat 4 gaw % iy 93w e s
EHEd

I FHYT * oAF °, 9 B e et § 9 get S W 999 i

(1)  (A) 3R (R) TA 7T 2 3R (R), (A) F et =9ren 2

@ (A AR R) I T E, S (R), (A) B A= e w6 2
@ (AT g, dfF R) 79T 2

@ Q) e 2, A ®) 79 2

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant’s perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

fopy s % e | ufgarli-ufdes = Deasa fen S g7

(1)  Jomdt= =iy (2) tfertyes my
(3)  SATATEE MY (4) TETeRE WY

[Question ID = 2017][Question Description = Q11_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = B067]
4, 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
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| research?
(A) Descriptive method
(B) Experimental method
(C) Ex Post Facto method
(D) Historical method
(E) Exegetical method
Choose the correct answer from the options given below :
(1) (A) and (B)
(2) (B) and (C)
(3) (C) and (D)
(4) (D) and (E)

uitsreu afemr fd afmfe @ ofigfe = oufe % =v 4 2l 3, oy 6 F=fafea 4 @ = &t

] T GUHR &7
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(A)  fEaones &

(By  wHiTen=s fafy
(C) =t fafy
D) el f&f

(E) ==maEmesss oty

F= fou o et 8 o OF W w1 9 SR

1 (@B
@ (B IR(C)
3  (©) D)
@ (D) HR(E)

[Question ID = 2018][Question Description = Q12_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4, 4 [Option ID = 8072]

8) Match List | with List Il, List | gives steps of research while List || provides techniques used,
List 1  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (lI) Drawing a subset from a larger set

(C) Selecting a sampling procedure (Ill) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below ;

(1) (A)-(ll1}, (B)-(IV), (C)-(IN), (D)-(I)

(2) (A)-(1), (B)-(I1}, (C)-(lIL), (D)-(IV)

(3) (A)-(I), (B)-(IN), (C)-(1), (D)-(IV)

(4) (A)-(ll1}, (B)-(1), (C)-(I1), (D}-(IV)

A1 % o ge-11 =1 faens hifse) g1 my % = uea 2, St gef-11H 3796 3R Y adis

geft-I N
I b =R 1 CI LR B | I o (G E e B
(&) wwEn i @) ofTRg! s wafies i aArhla wegdie
(B) ufterewn fmfo D) U gETR U2 ° T H
(C) wid=e=m wfean =1 == (III) < 5 &3 ¥ e 9v 33
(D) g ey (IV) i < = = it e wofia o

f fou o fawest § U OF S 1 99 i
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(1) (A)-ID, (B)-(IV), (C)-AD). (D)-D Your Personal Exams Guide
2y @)-O. B)-AI). (C)-AID), (D)-IV)
(3  A)-dn, B)-1m, (C)-D), (D)-IV)
4)  (A-dID. B)-O, (C)-AD), (D)-AV)

[Question ID = 2019][Question Description = Q13_GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (1) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (ll) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (I} is false but Statement (ll} is true

= 3wy Fe e 2 .

w97 (D) : U TY-NEY SR Mg-TT ¥ oied i gedE o e sk el % off #E staw 98
7 2

%o (ID) ; g Geiet Hamar 30T zger sueE gt el = fog sfa 2

ITUTH YA = A 1, e U e fsedt 1 9 @ I w1 9u e

(1) = (@D 3 JD) 341 73 51
(2) =W (D) R D) I rEes 3

(3) = (D) "ea 2, dftrs maa (1D o9 2

@)  FE () IFE 2, A w9 (1) 99 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but {(R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Hi= 2w g o £ ; ©F fiwO (Assertion A) % w7 # foflaw B @ 3@ 39F F0 (Reason R)
FwaH

wAfeE (A) ; et wiy afiweuT (Hy) #1 ol vimmes (He) 6 meaawr @ waw frn s
M|
w0 (R) : i afmwerr (Hy) =R adania 67 sifigf @Y e & 78 6 s g 2

- = - [P - oA om -



WWW.prepp.in .repp

JUWTh DA Al H, AT 16C T Tdheldl H { HIH SUHH ST =l =4 FNE
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Q) (A) IR ®) I T F 3R R). Q) F = = 2

@) (A s (R) 34w E, S (R), (A) B wd e T )

() Q) g, ate R) 98 TE 2

@ (A w2, AR (R) wE R

[Question ID = 2021][Question Description = Q15_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Optien ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

wyredta 9 aieg T 9 uPiE ve feaw Featafaa 4 | fre ot e 22

(1) 30 S (2) 30
(3) 15 AEN (4) 15 7=

[Question ID = 2022][Question Description = Q16_GP_20NOV_S$1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

fopm THMERTR 1 Sd- T (M) "Let truth prevail” 87

(1) f=emm (2) 2IEEH ST sreA
@ fafm @ 3Ry

[Question ID = 2023][Question Description = Q17_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8089]
2. 2 [Optien ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion {A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both {A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of {A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 7 Fu9 fim o € : uw fieem (Assertion A) % w7 faflw 2 ot goR1 3u% HRW (Reason R)
+ ®YH

sfterE (A): sl R (sfswne) shiarsd siftrs dafedlier sit el g 2, g 76 dfen
£ a9 T 3HH 99E U2 @ 2
%1 (R) : T TR (Sigwe) Hifga W dwe™ g1 6 o1 waw 2

ST BYT b el o, A 2 o Repeul O o w98 ST ST W I it

(1) (A) 3 R) 2 7@ 2 oft (R), (A) F =& = 2y
(2) (A9 ®) AT wEl 3, AR (R), (A) F wg = 72 )
(3) (A EA R, @fF (R) g8 T8 B

JAn PR el - B T L A,
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[Question ID = 2024][Question Description = Q18_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Optien ID = 8094]
3. 3 [Optien ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods,

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect,
Choose the most appropriate answer from the options given below :
(1) {A) and (B) only

(2) (B) and {C) only

(3) (C) and (D) only

(4) (A) and (D) only

FIOER % SU & Bg MUFHA Ui daehies RE TR ¥ TF TR fHas 3 mert anfa ge?

(A) o fagm fafa i o @ 59 % R
B = @i safim S % @ e 23 % fag
(C) It =1 R woned 1 & ser * g

(D) =g 9N s9F % fere fr it o e wve @i giar 21

e faw T foeRei § ¥ e SUgTE 3T S 99 il

(1) e (A) R (B)
(2) e (B) 3l (O)
(3)  eaw (C) i (D)
(@ w4 FR(D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8097]
2. 2 [Optien ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) {A), (B) and (C) only

(2) (B}, (C) and (D) only

(3) (C), (D) and (E) only

(4} (A), (C) and (D) only

o &t 72 g 9 @ gy # R st A e S

&) IR
(B) oI
(©) @
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(E) &I 7 7 g

=1 fau o Feewl § 9 wE 3w v Fifew

() F59 (&), (B) 3R (O)
2) (B, (C) AR (D)
3 %9 (C). (D) 3R (E)
4  F (), (C) (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_51_SHAAN]
. 1 [Option ID = 8101]
. 2 [Dption ID = 8102]
. 3 [Option ID = 8103]
4 [Option 1D = 8104]

oWk B

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs, 3,000/- (2) Rs, 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

T T4 % A U THAR W o79d Wik 59 UuY 3 WeFl ¥ 4000 T, 3G I3 4 "ol W 4500 T
iR sifam s 7Rt A4 5000 ¥ 97} AfE sw o & v B w=a 5000 ¥ ot A 3@ gfaw # siEa

i 1 fRat ot ?
(1)  3000/- T3 (2) 4000/- T
(3  5000/- T (4) 6000/ T

[Question ID = 2027][Question Description = Q21_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 & 90 = sitg it g} srrew wewet w1 sitgd sdqd -

(1) 76.5 (2) 98.25
(3) 55.75 (4) BB.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

% ARG 33 WX 3 999 W 11 ofieX 39 % e qem F v @ afSia s 21 afewd §

[ L
1 25% (2 50%
(3  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_51_SHAAN]
| 1. 1 [Option ID = 8113]
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| 2. 2 [Option ID = 8114] .
3. 3 [Option ID = 8115] Your Personal Exams Guide

4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

7fg Rl aTg #1 Aa goF 39 9 gen W 95% B @1 @y = afawam F= 37

1) 4.26% 2 5.26%
3 5% @ 7.9%

[Question ID = 2030][Question Description = Q24 _GP_20NM0V_S51_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs, 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs, 1,560/-

Aie g =afr forell aeg =t 25% wfvea A 2 8 S8 1200/~ 9 4 o=@ 2 a1 30% =1 &1 B *
o 30 2u a%g =1 B g W s=ET =g 9t

(1)  1600/- T (2) 2000/ ¥
(3)  2080/- v (4) 1560/- ¥

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122)
3. 3 [Option ID = 8123]
4. 4 [Opticn ID = 8124]

21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti  (2) Anumana

(3) Upamana (4) Unuplabdhi

e YR YA | T = Fefaten | | Fi9-m g oma axg R T 9w % \Y g W

ST 27
(1) sy (2) FEA
(3) s (4) squeied

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125)
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Opticn ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijiia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A}, (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A}, (B), (C)

I TeRATRE o TR S 5 A H T 1 Gl 369 o 8 7

(&)  foemd fav= 9 seeor it waEar /wEisTar # FYE (31)
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(B) RO % HH (27) Your Personal Exams Guide
€  sifamon 5 fad % =0 3§ gy (Frme)
(D)  sAfyamon =1 %A (Fios)

() Tifea frem = Serem 3 (Samew)

e ew mu fereat & 4 ugi 3 1 99 fifg

1 D) E). A (). B)

2 D) ©). (B). A (E)

(3 (D), B (E). A). O

@ D) (E).A). B, O
[Question ID = 2033][Question Description = Q27_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Optien ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) Which of the following schools of Classical Indian Philosophy reduce Sabda pramana

(verbal authority) to inference?

(A) Nayaya

(B)  Vaisesikas

(C)  Buddhists

(D) Mimamsa

(E)  Carvaka/Lokayata

Choose the correct answer from the options given below ;

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
4  (@. D) and (E) only

T YRAHE 2EAwE -9 WIS W5g YA ST % IO A A 7

A ™

(B) dfi

©) dig

(D)

(E) </

e fo o faereui F & T T T il

(1)  Faa (B) R ()
(2)  FF (B). (C) FR (E)
(3) #F3« (B) I (E)
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[Question ID = 2034][Question Description = Q28_GP_20N0OV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4, 4 [Option ID = 8136]

24) Given below are two statements

Statement (1) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.,
Statement (1) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (1) and Statement (Il) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement () is false but Statement (1) is true

= 2 e fem o §

%7 (D) : T AR ahuTE % SHER ARAwiE E d@ifhe 9 % @ra H g 2|

B (1) : I TS F5 Tel samdt 2 % 25 5| 99R & J9aW o =Y Sfod o 78
sl 2 2 2 3 1A e 2

IHNF FUT o TS H, A9 4 T e § § wE) SO 99 i

(1)  =oF Q) I 1D 2 T 31
@ = (D) R (1D I o=
(3) % ) aed 2, A A (1) 79 2

(4) = (I) A9 2, «ioe w9F 1D ged 2

[Question ID = 2035][Question Description = Q29_GP_20N0OV_S1_SHAAN]
1. 1

[Option ID = 8137]
%9

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List li

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (1} Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reasen {ll) There is fire on the hill

(C) Giving an example of underlying rule (lll} Therefore there is fire on the hill

(D) Statement of thesis to be established (I¥) Becuase there is smoke

i1 & @ g1 = firere fifsm)
=1 gHl-11
T % T T
(&) sfperon =k gEite = w9 A4 gfE @ -l gAT BT € T@ A Bl § AW WIgE
H)
(B) =R F H dI) UETE W T 2

P o™ L — A Rt ~. S, . (e L
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(D) wonfud =5 sHerent stframon e AV) it =gt gt 2

= o e e 8§ ¥ w8 I W 9 AT

1) @O, B)-AD, (O)-AV). (D)-II)
@ @-AV). (B-dAID. (O-1). (D)-dD)
3  A-AID, B)-AV). (O)-(D. (D)-AD
@)  (A)-dD), B-O), (O)-dID. D)-IV)

[Question 1D = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8141]
2 [Option ID = 8142]
3 [Option ID = 8143]
. 4 [Option ID = 8144]

oW =

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :
(1) Faster RAM  (2) Blu-Ray Drive
(3) Solid State Hard Drive (4) LCD Technology

wF oS & A T 4§ s A wise % Auer %1 Fmiv Ben 2 s o g e ot 2 9w
St el AUeiy ATl i 3UE SR ¥ Dier 3 a4 A =y 2
oy w9 % T g dienfes = uEm fe T 27

(1) v (dm) W Q) =-tga
(3) witE =7 T 3Ed (4) T g D IFE

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8145)
2 [Option ID = 8146]
. 3 [Option ID = 8147]
. 4 [Option ID = 8148]

PR e e

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (0S) installed on it.

Reasons (R} : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A}

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

9= 2t = faw T B ;. v oifymus {Assertion A) % &9 § fafigg 2 @ THa U FIIT {(Reason R)
FEqH

TFES (A) TF AW TS HEgeL °§ OF ATRfE famem snays =9 @ weuifua g wnizu)
B (R) : T AN e WiE AR W e § weie T8 g |

ITUTH U ok AT o, A U T fomwedl | O 9 s W =9 <hifae

(1) (A) IR (R) IAT Tea & AR (R), (A) 1 g&l = B

2 (AR ®) I T &, 9 R), Q) F wd =men w2
(3) (A) = &, @A (R) o9 21

@ (A vmd 2, A (R) T 2

[Question ID = 2038][Question Description = Q32_GP_20N0V_S51_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
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(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B}, (C), (D)

(4) (D), (C), (A), (B)

TaU 99 § g9d B audl % w9 ° Fofafias LR Guaietl % Oa 59 i geaE i)
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(A) 1500 M Bytes

(B) 5 K Bytes
{C) 1 G Bytes

D) T Bytes
= fou o forregt 4 9wl o = == S

1 (D) A){C). (B)
2 @) {D. ). B
3@ @.6B.0.0
@ D), ©).A). B

[Question ID = 2039][Question Description = Q33_GP_20N0V_S1_SHAAN]
1. 1 [Option ID = 8153]
2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (1) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (l) and Statement () are true

(2) Both Statement (I} and Statement (ll) are false

(3) Statement (1} is true but Statement (I} is false

(4) Statement (1) is false but Statement (I} is true

I o e § forew sy iR and-wig domteiatt < 8, i g e g e F

o (D) : -8 H I sy ¥ F A B
o (II) ; E-FTE % TS W seig i e wEl wifren e 2 F S W S W 2

IO FHYF * o H, T B e Ferewl # 9 ge s w1 999 wifag

) e (T) i @D 2 T B

(2) = (1) i AD I 75T B

(3) = (D " B, S wy D) 9 2

(4) =9 () o7ca 2, SfF w9 (D) O3 2)
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| [Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List 1l ;

H\a”f-l + | Hi-11 = e it
If«ﬁ-l ﬂﬁ’(-ﬂ
(PR TR ¥ ) (SFIi)
(A) OCR @) < a1 el SEEs H 5T T 5
fere s Bt 2)
(B) OMR Al wig-Ferpedim ware § i ug w1 % fa
S g gl
() Email (II) TEu=IeT FfhTH
(D) Instant Messaging AV) THFINTF FEGHT
F= o o e § O 99 S H1 9 hI
(1) (A)-AD, (B)-@), (C)-(IV), (D)-(I1I)
(2) (A)-dD), (B)-(D. (C)-(1II). (D)-IV)
(3 (A)-(0), (B)-AD). (C)-(1I). (D)-(IV)
(4) (A)-(I), (B)-ID), (C)-IV), (D)-(IIT)
Match List I with List I1:
List I List II
(Computer Terms) (Purpose)
(A) OCR () Used to scan typed or handwritten
documents
(B) OMR (II) Used to mark  multiple-choice
examinaiions
(C) Email (II) Asynchronous Communication
(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :
1)  @)-aAD, B)-A). (O)-AV). D)-A1I)
(2) (A)-AD, (B)-D). (C)-(1L}, (D)-(1V)
3  @A-O, (B)-1D), (C)-(IID), (D)-(IV)
@ @)@, (B)-dD. (O)-IV). D)-1II)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8161]
2. 2

[Option ID = 8162]
3. 3

[Option ID = 8163]
4, 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

frafefigd @ o SiF-ar v A = o FE G gmyd 20

(1) U IEHEEES Q) Taorse weivss
(3) T STEHATIERS @ e

prepp
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[Question ID = 2042][Question Description = Q36_GP_20N0OV_51_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3, 3 [Option ID = 8167)
4, 4 [Option ID = 8168]

Your Personal Exams Guide

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

ffatigd 1 o - S Gl 9 91 R &9 T80 2 7
(1)  warfE s (2) uEd B

-

(3)  wiFer (4) Sifaga

[Question ID = 2043][Question Description = Q37_GP_20M0V_S51_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4, 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic (4) Storm

frfafaa @ & Fi-of wepfas 9e ST Sedt 3 o 3uH s S oH A | ¢

1 = (@) vaegEt foEpie
(3)  wEMHl (4 TP

[Question ID = 2044][Question Description = Q38_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Optien ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]

34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) Mational Mission on Scolar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) Mational Mission on Survey of Himalayan Ecosystem

AR GOHR % Yaierolia = FisMT & @2 o NMSHE F=fafiga & & fraesr agmem 27

(1) National Mission on Solar-Hydro Energy
(2) National Mission on Sustaining Himalavan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Optien ID = 8178]
3. 3 [Optien ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B}, (C) and (D) only

(2) (A), (B) and {C) only

(3) (B) and (D) only

(4) (B) and (C) only

freferfi & § o Sqmel = Tiager ST WS % SR S SieraTg WiEdd W TS 8 7
(&)  TEZSH SRS
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(B) TR 91y (PMzs)
(C) e
(D) digE
(E) -igd ATERS
F9 fov o el § O o = oW =9 SR
(1)  =ae (B). (C) 3 (D)
2)  FFE (A). (B) @R (C)
(3) e (B) i (D)
(4  #FFa (B) I (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

prepp
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36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1Y UGC ; ; (2) NCTE

(3) NCERT ; ; (4) AICTE

= o % g2 4, wrdE swan e A gl fian ¥ uw gigEsn R 9 fFeifa e # o

Pttt o © fra vo P/ wrea =t e G m?

(D
(3

7 St @
wdt s emd

@ wH A
(4) wamsddis

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]
2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il List | names various organizations while List Il gives their location ;
List 1 ;

;3 ;3 Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (Il) Bengaluru
(C) NDRI ; ; (Illl) Lucknow
(D} CDRI ; ; (V) Karnal

A1 % wy gfl-10 =1 T ife

&)
B)
()

(D)

9 for 7u faeredt & @ o 3w W T A

1
(2)
(3
(4

-1
LSRR
WAL I T
A g A
i < w1 o

(A)-dD, (B)-d1ID), (C)-«(I), (D)-IV)
(A)-1D, (B)-@). (C-AV). (D)-A1I)
(A)-a1D, B)-D), ([C)-(D). M)-AV)
(A)-IV). (B)-AID. (O)-(ID. (D)-D

| [Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
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. 1 [Option ID = 8189] .
2 [Option ID = 8150] Your Personal Exams Guide

3 [Option ID = 8191]
. 4 [Option ID = 8192]

oW

38) NEP-2020 proposes to establish NETF., What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning,
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A}, (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D}, (E) only

(4) (A), (C), (D) only

73 foren ity (w7 § 1)-2020 % @ 3 & v Fit 9w FE T TE@E 2| 39 Ferm % fafEa wee e

(A) TrENFER § oTEYE oK TEER 3 e fEw dar )
(B)  =iftrm = gAgH 3g MR < WA % Hey § ol % g dEE-TeH 2g U6 49 gaA1 |
(€ o g w1 sgET 3 | wgEa &g sgant fwem et #e|

(D) Tawem TR, F SR oA aiEd ¥ e § Afvas At EEEn A g s
R #1 A A §¢ AU ITHAH TATH F

(E)  Toran ienfiehl o siifgs oflt geurra anaist =0 fHmior s

@ fau mu feredt § O el s W e il

L *= (A). D), (B)
2  Had (A), (B), ()
(3 %« (B). (D), (B)
4 (), (©). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM
(B) PARAKH
(C) SWAYAMPRABHA
(D) DIKSHA
(E) MOOC
Choose the correct answer from the options given below :
(1) (A), (B), (E) only
(2) (A}, (C), (D) only
(3) (B}, (C}, (D) only
(4) (€), (D), (E) only
frefefa § @ F-a 3-arfom 5= 27

(@A) TEEH
B) W=
(C)  TEEEHl

D) g
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(E) o=

= fou e fmreut d © @ 3 W = AT
(1)  FE (A). (B). (B)

(2 FEA). (). (D)

3 W (B). (C). D)

@  Faa ). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_51_SHAAN]
1. 1 [Optien ID = 8197]
2. 2 [Optien ID = 8198]
3. 3 [Option ID = 8199
4. 4 [Option ID = 8200]

40)

Which among the following goals adopted by the UN member States in 2015 is related to SDG-47

(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

G T % TSE 9 g AW 2015 H waa fawE wed-4 @ getug Frefafea 4 @ Sh-wm @ suaen

T AT Y
(1) a9 @R 3R agew (2) ToTETTE e
(3) Tl SEA (4) S TETER TS STEEET

[Question ID = 2051][Question Description = Q45_GP_20NOV_51_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]
3, 3 [Option ID = 8203)
4. 4 [Option ID = 8204)]

prepp

Your Personal Exams Guide

Topic:- General Paper_5Set1_C

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio econom crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery.
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

TENS I GEUHIYER 96 U1 36 A8 73U T 99 9 36 2
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AT TEE FIGS- 19 HeMRI TH1 THE T S1YA9d 37T TR w9 3R fita fragg o i v=w
o€t it 21 frmer ad % sifim A F wfen § cud s % @Y 95 AR SErRRE SIS T
Tergid # el g 2| 99 TF @ B9 A 10 TR A JH S @i uF & AR off weear A el w5
T WA 9iF 33 98 T 2| 96 4F TeMnl WRed GFe W wel AU 3, 9§ Th AYgq
amtfaw-oils wwe ft 2| 3@ = wIw =afs Tow wwite ) e e et onfie sk
TeHifas e ugd 9 8 Rk o g wE e e ot 21wk ug s gt anfie afamfy
(ferarll) 7 9 w1 3t 9t o qiehl cd e AR @ R, WY B AR FIva e Wed % @edr ¥ 99 @
wee wedl gegi W ot o w2 A 7w AfTew gedm el fEem % wE W off 9 @ e
Ao & Aged § e o w1 21w T @ st e it e men @ €1 5 7 v fr et
w0 AEF geh| T | R e gifiw el % sed ot wng-ge @t ue 31 faddm 3w aned W
s 2 35 400 fafeem (40 =) @Ml f TiE w2 rm AR T am o e R m e
g-t (ifRea) # 110 faformm smieh swen F wh snof) gom sifimme 2 B 500 fafema (80 #0%)
AT AT e SEEl B P R § and TE) g )

The major crisis faced by the world since World War |l is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health

facfar fergerrg = wig faga =1 asd wgr dshe pe &9 & oA 27

(1)
(3

Sitetires (2) YR

o (4) WA

[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
. 1 [Option ID = 8205]
. 2 [Option ID = 8206)
. 3 [Option ID = 8207
. 4 [Option ID = 8208)

1
2
3
4

Z)

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.,
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T i GEGFIYEE 93 AT 0 a8 3T T 9v 9 W 3

HRAT FAE FHifag-19 Tamdl §HR 999 1 @y ARas e g iR fgdha fvagg & o 6 v
a1 AN 21 Trowt ad F oifis BT § olimn § oud s % W9 T ArRE HATEHeE H DI T
HEId # %ol I 3| o T g@E BT W 10 TG @ I S el g% & R gl Aemn A gl w6
T FEEE S SaT U T 2| UGY AE WEWNl WReA GHe ¥ wE ofrE P, T8 Uk g
AMTR-2130% He Mt 2| 2W & UAF ARG SUW YNIad Bl sU fToeel amnfes ofides oiR

] B e} = LN SRR, WPV 5. S o SN -. S o
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The

FAMETIIRTTY AT T AT O IMITITE AT ST OMHE TR BTISERTL RO I O “:_J‘KIJ' ’\IE =4 SITEACITES AP TR AIVETLTRTR

(Rerard) & 7 o1 St ot w aoieht Fea WaF @R T &, WY o 9% fave weree wed % ueam ¥ e ©
@R wudl gedl B o 3@ w ¥ oaw w9 Afvew omdE et freem % owE W o 3 @ e
A=A & gea § Fowm w0 @1 21w oA s srolt et oft s A @ 21 5 6 v B wfifeufa
%o aEFE 5o e | ik e fiflw gl % gew ot wng-ge @t @ 31 siaddm wm wned W
a9 2 5 400 fafeem (40 =) @ it Trefe s gt B ra S J R o R R owm e
g-ta (ifem) 7 110 fafema smieh swer F = snof) gom stfime 2 B s00 ffema (80 #U3)
AT AT gREIE) seal B T A d awdd TE g )

pandemic has left which of the following area unaffected?

(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication

TEr = Frefatiaa ¥ @ e o W w8 ugi 27

1)
(3)

1l e (2) oifw
AT 3T T (4) TEIR

[Question ID = 2053][Question Description = Q47_GP_20NOV_51_SHAAN]

oLk B2

. 1 [Option ID = 8209]
. 2 [Dption ID = 8210]
. 3 [Option ID = 8211]
4 [Option 1D = 8212]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented socio econom crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 illion dechine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.
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ST AT eI SEal W T R § and g g )

Which continent is least affected by COVID-197?
(1) Asia (2) North America
(3) Australia (4) Antarctica

HH- TS HiTS— 19 T W FH GAiFa 530 27

(1)
3)

i) (2) 3ofl e
g fern 4) il

[Question ID = 2054][Question Description = Q48_GP_20NOV_51_SHAAN]

-

4)

. 1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
. 4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family is suffering under an almost
intolerable burden of loss. But the pandemic is much more than a health erisis, its also an
unprecedented socio economi crisis, Stressing every one of the country it touches, it has the
potential to create devastating soeial, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day, people are
losing jobs and income. with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion declhine in remitttances this year, which could mean 800

million people will not be able to meet their basic needs.

T TEGHEE T AT $HE g 3T T 99 W IW 3

FIAT AP FIfaE- 19 TEMRI TAR W99 1 SIqd 4as wen g iR Tyt faveag = o & wsm
a1 AW 21 Trowt ad F sifis B § olim o su% s % W9 T arRE HTEeE F DI T
HEId ® %ol g 3| 9 T g@E BT U 10 NG @ I S el g & R gl Aean A gl w6
TR WS o ST TS W@ 2| Weg AT WEWH WRE G U wEl oIfUE §, A Wk Iy
amsE-otiw "% f 21 W W TaT =t ww iR 2 5o foed aenfas onfdw ofi
iR T TS A 3 Rk o w a TRCRE w3 e Ty e sniE s
(Rerardl) 7 7 o1 & ot v aoieht ed WeF 9 T 8, W o 9% fava wre wed % ueam U e ©
@R wedl gedl B ol 3@ @ §oaw u Afvaw uedE et feem % WA W o 3 @ Eice
aq=EE % Sged | o @ 31 ' A A st Hiefen ofit e mar @ 31 92 98 van B ufifeufoeen
w9 AP 5P v | R g difl Tl % glew 3R wmg-ge Grell 9 3| AaudE s ed W
99 2 5 400 fafeem (40 =) @ it Teie s v B fra d% J R o R R owm e
g7-ta (ifem) 7 110 fafemm smieh ser F wh snof) gom sifime 2 5 500 fafema (30 #U3)
AT A gREIE) SEal B P R d awd TE g )

Which of the following organization has given technical lead in the UN’s socio-economic recovery plan?

(1) UNDP  (2) UNICEF
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(3) UN-GHRP  (4) UNSC
=1 4 @ 5w geom 9 UN #it amnfas ot afamfa (fepadl) T it 390 vem fran 27

1)
3

UNDP (2) UNICEF
UN-GHRP (4) UNBC

[Question ID = 2055][Question Description = Q49_GP_20N0V_S51_SHAAN]

b B —

In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?

. 1 [Option ID = 8217

2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option 1D = 8220]

Read the passage carefully and answer the questions that follow -

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the

greatest challenge we have faced since World War Two. Since 1ts emergence in Asia late last
year, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family is suffering under an almost
intolerable burden of logs. But the pandemic is much more than a health crisis, its also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social. economic and political effects that will leave deep and
longstanding scars. UNDP is the technical lead in the UNs soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan,
and working under the leadership of the UN Resident Coordinators. Every day. people are

losing jobs and income, with no way of knowing when normality will return. Small
islandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Orgamsation estimates that 400 million jobs would be lost. The World

Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.
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(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

Hifas-19 % suete d frfafa § @ B @A/ afaeml &g 9 it asd w9 gureEr gt ?

(1) 792 32 (2) e it e
(3) Tt afamm (4) weE afiEm
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